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Std. 12 : (Science Stream) Maths (050)
Annual Exam

Time : 3 hrs. Paper Scheme

oAl HILRAHS 27 GAdR Wi [Agpel ol AR

Total marks : 100

Note: This Paper scheme acts as guideline to teachers, paper-setter, moderators etc. Along with tjhe aims of
Secondary and Higher Secondary Education, there is a spar to make some changer in question paper

for paper setter as well as moderator as per subject.

Weightage as per objective :

Objectives | Knowledge|Understanding| Application Higher order thinking skill Total
Synthesis/ Inference/
Analysis Evaluative
Part-A Mark 10 15 13 10 02 50
Part-B Mark 10 15 13 09 03 50
Total Mark (%) 20 30 26 19 05 100
Marks as per type of question : PART-A
No. Type of Question No. of Question Total Marks
1. Objective 50 50
Marks as per type of question : PART-B
No. Type of Question No. of Question Total Marks
. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50
Makes as per type of Question (PART-A):
Sr.No. Type of Subject Marks distribution Marks distribution Unit
according to chapter according to unit Number
1. Relations and Functions 06 12 I
2 Inverse Trigonometric Functions 06
3 Matrices 07 14 I
4 Determinants 07
5 Continues and Differentiability 08
6 Application of Derivatives 08 44 1
7 Integrates 14
8 Application of Integrates 07
9 Differential Equations 07
10 Vector Algebra 08
11 Three Dimensional Geometry 08 16 v
12 Linear Programiny 06 06 \%
13 Probability 08 08 VI
Total Marks 100 100

Note : Chapterwise marks is there allotted as per given specimen question - paper it can be changed,

but unitwise should not be change.

(1]




Std. 12 : (Science Stream) Maths (050)

Annual Exam

oAl HILRAHS 27 GAdR Wi [Agpel ol AR

Time : 3 hrs. Scheme of Paper Total marks : 100
No. of Details of Section/ Question Marks
Question
PART -A
1t0 50 50 Multiple Choice Questions, each of 1 mark 50
PART -B
SECTION - A
1t08 8 ShortAnswer type questions, Each of 2 marks 16
*In this section give two internal options.
SECTION -B
9to 14 6 Short Answer type Questions, Each of 3 marks 18
* In this section give two internal options (Total-2)
SECTION-C
15t018 | 4 LongAnswer Type Questions, Each of 4 marks 16
* In this questions give one internal options. (Total-1)
Total Marks 100
Note: @ Timeone hourforPart-A

Time two hour for Part-B

For first test syllabus will be upto first test only and paper style of it will be as per the

paper style of annual exam of 100 marks.

In preliminary exam complete syllabus should be covered and its paper style will be as

per the paper style of annual exam of 100 marks.

(2]
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Std. 12 (Science Stream) Maths-050
Annual Examination

Time : 3 Hours Sample Paper Total Marks : 100

Time : 1 Hours Total Marks : 50
Instructions : (1) There are 50 objective type (MCQ) questions in Part-A and all questions are compulsory.
(2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

(3) Read each question carefully, select proper alternative and answer in the OMR Sheet.

(4) The OMR Sheet is given for answering the questions. The answer of each circle (®) of the correct
answer with ball-pen.

(5) Rough work is to be done in the space provided for this purpose in the Test Booklet only.

(6) Set No of question paper printed on the upper most right side of the question paper is to be written
in the column provided in the OMR Sheet.

(7) Use of simple calculator and log table is allowed, if required.

(8) Notations used in this question paper have proper meaning

(1) If f:R—=R,f(x)=(5-x") then (fof) (x) =

(A) B) (©) x (D) 5-x

(2) If A={1,2,3 } then match following subsets of A x A properly.
Part-A Part-B

D R, ={(1,1)(1,2),(2,1)} (a) only Symmetric

dn R,={1,1)(2,2),(3,3),(1,2),(3,1)} (b) equivalence

) R,={(1,1)(2,2),(3,3)} (C) only reflexive

(A)  (D)—(b), (ID)—(a), (IIT) —=(c) (B)  (D—(a), (D)—(c), (1) — (b)

(C©)  (D—=(c), (I)—(b), (III) —=(a) (D) (D—(a), AD)—(b), () — ()
3) Iff.'N%]V, f(x)=2x+3 then

(A) f isnotone-one (B) f is onto C) f > (x)= XT_3 D) f " not defined
o =i () —

A) 7 (B) % © (D) _37“

. (-1

Q) Sm(%—Sm (7))=

(A) % (B) % ©) % (D) 1
(6) If cos (§)+Cosec’l(§)=% then x = -

(A) 1 B) 3 € 5 (D) 4

(4]
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(7) If x :% then Cos(2C0s’1x+Sin71x) =

B N V3 1
(4 - B) -+ © B o) |
12 070
@) If[121] {2 01 2] = O then value of x is equal to =
102]x
(A) 1 (B) 2 <) -1 (D) -2
Cos a - Sin o |
9 If A=| . and A+A =TIthen o« =
Sina Cos a
A) = (B) = € = (D) 3¢
6 3 ) 2
(10) IfA is a square matrix such that A>=A then (I +A) —7A=
(A) 1 (B) I-A < A (D) 3A
(11) If A and B are Symmetric matrices of same order, then AB + BA is a
(A) Skew symmetric matrix (B) Symmetric matrix
(C) Zero matrix (D) Identify matrix
(12) If the area of the triangle with vertices (— 2, 0) (0, 4) (0, K) having 4 Sq. units then K =
(A) £2 (B) 3 <€ 2,8 D) 0,8
1 Cosf 1
(13) TA= | w6 1 cow| »Where0=<0<2mthen
-1 -Cos6 1
(A) Det(A)=0 (B) Det(A)e (2,,<) (C) Det(A)e (2,4) (D) Det(A) €[2, 4]
0 i-100  i-500
(A4 D=1 o 10004 | thenD =
500—i i-1000 0
(A) 100 (B) 500 (C) 1000 (D) 0
1-Coskx x£0 . )
(15) 1t f(x) = 2 : is continues at x = 0, then K =
8 cx=0
(A) =1 (B) £2 (C)+3 (D) +4
(16) Ife' +¢ =¢ " then Z_y -
X
(A) €7 (B) ¢ (C)-e™ (D) -~
i (etanlx + cot™lx )
(17) dx =—:(XE R)
ki
4) 0 B) 1 ©)e (D) e’

(18) The interval in which y =x".e is increasing is

(A) (-00, o) B) (-2,0) (©) (2,0) D) (0,2)
(19) Theline y =m x + [ is atangent to the curce y2= 4 x if the value of m is
) 1 (B) 2 (©)3 (D) 1

[3]
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20) The normal at the point (2, -2) on the curve 3x -y’ =8 is
( p y -

21

(22)

(23)

24)

(25)

(26)

27

(28)

(29)

(30)

(A) x+y=20

Approximate value of (3 1)% is

(B) x+ 2y =-2

(A) 2.01 (B) 2.1
Joe{ o) =
(A) 0 (B) log 2019
_[1 dx _
R
(A) log2 (B) log3
[x@-0% 4=
322
(A) —35[ B) @
jsin (logx) dx = +c
(A) 5 [Cos (logx) - Sin (log x)]
(C) 5 [Sin (log x) — Cos (log x) ]
J‘ dx £ ,
e’ —1

(A) Sin" (¢") (B) Sec (¢

-T|;- dx
Ll + ~tan x
T T
A % B) T
j tan_l( 2x -1 ) i 4 ne
p I+x—x° 3 —

A) 1 B) 0
j. N1+ Cos2x dx=
(A) —J6 (B) —/3

2 2

Area of the region bounded by ¢+ );

(A) 12w (B) 241

2. -9

(C) x-3y=8 (D) 3x+y=4
(C) 2.0125 (D) 1.9825

©) 1 (D) 2.og (2019)
(C) -log2 (D) log4

(©) % (D) ﬁ

(B) 3 [Sin (logx)+ Cos (logx) ]

(D) x [Sin (log x) — Cos (log x) ]

(C) tan™ (")

(D) Cot" (¢

© % ® 0
X
(©-1 ®
© 322 ) [6-5)
(C) 48 (D) 64
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T

(31) Area of the region bounded by the curve y = Sinx, and x -axis, -7 sx<

A) 1 (B) 2 € 4 (D) m

STE]

(32) Smaller area enclosed by the circle x° + )’ =4 and the line x +y =2 is
(A) 2(m-2) (B) m-2 (C) 2m-1 (D) 2(n+2)

dx dx
(A) land?2 (B) 1and 3 (C) 2and 2 (D) 2and 1

2 2 3
(33) The order and degree of differential equation xy% + (ﬂ) - y(ﬂ) =0 is

(34) Function y = e™ is solution of differential equation

dy dy dy dzy dy
A) =-3y=0 B =0 (C -9y=0 (D) —-9y=0
(A) — =3y ()d2 e =0 (O y=0 (D) —=-9%

(35) The number of arbitrary constants in the particular solution of a differential equation

of third order are

@A) 3 (B) 2 <© 1 D) 0
N - A A A
(36) Angle 0 between two vectors a =§'\ +}'\ -/12 andb =i -j +k is
o1 2
(A) Cos 13 (B) —Cos_lé (©) =Sin™ g (D) Sin_lé

(37) For two vectors c?andl;, |a_>| =2, |Z[ =3 and;°g=4then|2-5| =

A) 3 B) 15 (©) 1(D) J5
AA
(38) Thevalueofz°(]xk) +J (1Xk)+k(z Xj)is
(A) 0 B) -1 © 1 D) 3
39) If a and b are two non-zero collinear vectors then is correct.
(A) b#ha:VieR B)a=b=0

(C) The respective components of a and b are in proportion.

(D) both direction and magnitude of a and b are different.

AAA A A A
(40) If scalar product _pf vector a with vectors 3i-5k 2i+ 7] jandi+j+ k are respectively

-1, 6,5 then a =
\ N AN A A A A AEATEA
A 3i+2k B 3i+j+2k ©i+3j+2kD) i+j+tk
(41) For two non-zero vectors a and b | a+b | = | a | then vectors 24 +b and b are
(A) Parallel (B) Perpendicular (C) Co-llinear (D) Equal

[7]
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(42) The coordinates of the foot of the perpendicular drawn from the origin to the plane
2x-3y+4z-6=0 are

(A) (2 -18 ﬁ) (B) (£ -8 A) © (L& 2 12)p (L = i)
29729729 V29742929 29729729 V29729729
(43) The angle bet" two line X¥3 _y=1_2+3 apq x+1_4-y_z-5 jq
3 5 4 1 -1 2
(83 o 8 83 T
(A) Cos [FJ (B) Cos (m] (C) Sin (FJ (D) 5

(44) Distance between the two planes 2x + 3y + 4z - 4 = 0 el 4x +6y + 8z = 12 is

(A) 2 Units (B) 4 Units (C) 8 Units (D) % Units
(45) Objective function of an L.P. problems is

(A) aconstant (B) a function to be optimized (C) an inequality (D) a quadratic equation
(46) In the question of maximum value of z= 8000 x + 12000y subject to constraints

9x+12y <180, 3x+4y <60, x +3y<30,x=20,y=20 is not a point of feasible region.
(A) (20,0) (B) (12,6) ©) (12,0) (D) (0,15)
(47) In solving the L.P. problem “Minimize z = 6x + 10y subjectto x=>6,y>2,

2x +y =10, x 20, y = 0" redundant constraints are
(A) x=26,y=22 (B) 2x+y=210,x=20,y=20 (C) x=26 D) x=26,y=0

(48) The mean of the numbers obtained on throwing a die having written,
1 on three faces, 2 on two faces and 5 on one face is

(A) 1 (B) 2 ©) 5 D) £
(49) E, F are independent events and P (E) # O, P(F) # O, then 1s false.

(A) P(E/F)=P(E) (B) P(F'/E)=1-P(F/E)

(C)P(E'/F)=1-P (B) (D) P(E'/F)=1-P(E/F)

(50) When four letters are inserted in to four covers (one in each)
= event that only one letters goes to the proper cover.
= event that exactly three letters go to the proper covers.
= event that all letters go to proper covers and

Part-X | Part-y
(p) P(A) (@ O
@ P(®) (b) 1
) P (O © + then  istrue
(A) p—aq—c,r—b B) p—>c,gq—ar—b
() p—>c,gq—obr—a (D) p—>b,g—oar—c

(8]
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Time : 2 Hours PART-B Maximum Marks : 50

Instructions : (1) Write in a clear legible hand writing.

(2)  There are three sections in Part-B of the questions paper and total 1 to 18
questions are there.

(3) All the questions are compulsory. Internal options are given.

(4) The numbers at the right side represent the marks of the questions.
(5) Start new section on new page.

(6) Maintain Sequence,.

(7)  Use of simple calculator and log table is allowed, if required.

(1
2

3)
“4)

)

)
(6)

(7

®)

@®)

Section-A

Answer question No. 1 to 8 as directed. (Each question carry 2marks.) [16]

(Each carries 2 marks)

Prove that  tan'/x :%COS*'G_") , wherex e [0, 1]
+Xx

Differentiate /w w.rt. x
3x°+4x+5

Find I (x+1)(x+1log x)
Find the area of the region bounded by the two parabolas y =x° and y’ = x.

Find the area bounded by the ellipse x_ " J’_2 —1 and the ordinates
a’ b
x=0 andx = ae, where b’ =a’ (1 —¢’)ande < I.
OR
Find the area of the region bounded by curve y =4 x” and lines y = 1, y = 4.

. N o A e /) PTRAN
If a unit vector @, makes angle % with ? % Wlthf\and an acute angle 6 with £, then find 0

and hence the components of a.
Find the co-ordinates of the point where the line through the points A4 (3, 4, 1) and
B (5, 1, 6) crosses the xy - plane.

Three cards are drawn successively without replacement from a pack of 52 well shuffled cards.
What is the probability that first two cards are kings and the third card drawn is an ace ?

OR

Events A and B are such that P(A)=—= P( B)= l and P( A'A Bl) — l . State whether A
and B are independent ? 12 4

9]
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(11)
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(12)
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(15)

(16)

(16)

(17)
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Section-B

Answer questions number 9 to 14 as directed. (Each question carry 3 marks) [18]

Consider f: R" — [4, ), given by f (x) = x’ + 4 show that f is invertible with the inverse /'
of f givenby f”(y)=/y—4 where R" is set of all non-negative real numbers.

Solve following system using matrix

X-y+2z=12y-3z=13x-2y+4z=2

OR
3 4 1+2n —4n . ce
If 4= [1 } then prove that 4" = [ _— ] where 7 is any positive integer.
- n —zN
If xJ1+y+yJl+x=0 for, -1 <x <1 then prove that dy_ 1

dx (I+x)
Fine the vector equation of the plane passing through the intersection of the planes
NP ATEA T - NN A .
re(i+j+k)=6 andre(21+ 3j+k)=-5and the point (1, 1, 1)
OR

Find the vector equation of the line passing through the point ( 1, 2, -4)
and perpendicular to the two lines =8 _ y+19 _z-10 and x-15_y=29 z-5

3 -16 7 3 8 -5
The corner points of the bounded feasible region for L.P. problem are A (0,4), B (0,5)C(3 5),
D(5,3), E(5,0), F(4,0).Obtain the maximum and minimum value of the objective

functionz = 10x- 7y + 1900
If a fair coin is tossed 10 times, find the probability of

(a) exactly six heads (b) atleast six heads (c) atmost six heasds
Section-C
Answer question No. 15 to 18 in detail. (Each question carry 4 marks) [16]
Show that- |(y + z)? Xy zX
Xy (x+2)° yz =2xyz(x+y+z)’
Xz yz  (x+y)’

An open topped box is to be constructed by removing equal squares from each corner of a 3
metre by 8 metre rectangular sheet of aluminum and folding up the sides. Find the volume of
the largest such box.

OR

Show that the height of the cylinder of maximum volume that can be inscribed in a sphere of
radius Ris ,  also find the maximum value.

kg

Prove that- 3 n

J log,(Sin x) dx =—1log, 2
The temperaturé of a body in a rodm is 80°F. After five minutes the temperature of the body
becomes 60°F. After another 5 minutes the temperature becomes 50°F. What is the

temperature of surrounding ? (Newton’s law of cooling)

[10]
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Maths 050 (H)
Sample Paper
Science Stream

wHT ¢ 1 90 T 37k : 50

(M

2

3)

(4)

©)

(6)

(1) =@ 97§ Part-A # g8 (M.C.Q.) ¥R % 50 W5 § | | gs a1fard |
(2) 9o i A HEA 1 W50 § | Bk T 1 O |

(3) T 95T o = qLE TS Tel forshed THE ook OMR U5 H ST A1 § |

(4) 39 37em ¥ feu TU OMR Tk H s % WA (A) O, (B) O, (C) O, (D) O feu w3 & | for wsst
I TE B I Terehed 3 g B U W gl MG @ HATE |

fou T g7 # SW et SR 99T Y2 e i OMR e # Sucrss Hiem # fafay |
TF o X g T gieaeh | < T STe H A1 8N |

e STEt g3 Il Wlel heleeiet 3R dlfete (Log Table) 3 SUAMT i AT &1 Wt € |
TE TSI | SR o TE Gaet o weferd @19 ¥ |

PART -A
qﬁf:R—)R,f(x)=(5—x5)é a (fof) (x) =

1 s

(A) (B) x (©) x (D) 5-x

g A= {1,2,3} @ Fr=fafad A x A o STHY=IT & TE e ¥ ey |
faurr-A faurT-B

O R ={1,1)(1,2),2,1)} (a) W FAMAT

(D) R,={(1,1)(2,2),(3,3).(1,2), 3,1)} (b) T T

D) R, ={(1, 1) (2,2), (3,3)} (c) HMH &I

(A)  (D—(b), ID—(a), (III) —(¢) (B)  (H—(a), ID)—(c), (III) — (b)

(©)  (D—(c), (IH—(b), (IIT) —( a) (D)  (DH-(a), AD—>(b), (1) - (c)

ag f- N> N, f(x) =2x +3 @

(A) fTER ARSI (B) fT==RFS | (C) f*'(x)J_j (D) " wfwfir T 2 |

tan ™' (fJ —tan™ [ﬂJ =
y xt+y

~

CRSNONC)

@ 3 ® 3 © 3 (D) _377‘
Sin [% — Sin™ (%1)) -

A) 5 B) + ©) + (D) 1
Ife c(,sfl(gngsecf'(;jzg Jx =

&) 1 (B) 3 ©) 5 (D) 4

(4]
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(7) afe xz% qr Cos (2C0s’lx+Sin’1x) =

@) 5 ®) s © & (D) 1
®) A [12 1]{1220(1“2] =0 Bl x T T
(A) 1 ) 2 ©) -1 D) -2
9) =fe A=[§,f: _Ci"fj FRA+A =1 Fec =
o B 3n
A = ®) © @) *

(10) afg ot saeqe (Matrix) AR TAT A=A AId@l (I+A) -7 A=
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Std. 12 : (Science Stream) Biology (056)
Annual Exam

Time : 3 hrs. Paper Scheme Total marks : 100

Note: This Paper scheme acts as giudeline to teachers, paper-setter, moderators etc. Along with tjhe aims of
Secondary and Higher Secondary Education, there is a spar to make some changes in question paper
for paper setter as well as moderator as per subject.

Weightage as per objective :

Objectives Knowledge | Understanding| Application Higher order thinking skill Total
Synthesis/ Inference/
Analysis Evaluative
Part-A Mark 05 15 15 08 07 50
Part-B Mark 05 15 15 09 06 50
Total Mark (%) 10 30 30 17 13 100
Marks as per type of question : PART-A
No. Type of Question No. of Question Total Marks
1. Multiple choice questions 50 50
Marks as per type of question : PART-B
No. Type of Question No. of Question Total Marks
. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50

Makes as per type of Question (PART-A):

Sr.No. Type of Subject Chapter wise Questions Unit wise Marks
1. Reproductions in organisms 05
2. Sexual Reproduction in flowering plants 05 Unit-1
3. Human Reproduction 06 20
4. Reproduction Health 04
5. Principle of Inheritance and variation 09
6. Molecular basis of inheritance 08 Unit-2
7. Evolution 07 24
8. Human health and disease 08
9. Strategies for enhancement in food production 07 Unit-3
10. Microbes in Human welfare 07 22
11. Biotechnology : Principles and process 08 Unit-4
12. Biotechnology and its Applications 06 14
13. Organisms and Populations 06
14. Ecosystem 04 Unit-5
15. Biodiversity and conservation 06 20
16. Environmental Issues 04

Total Marks 100 100

Note : Chapterwise marks is there allotted as per given specimen question - paper it can be changed,
but unitwise should not be change.
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Std. 12 : (Science Stream) Biology (056)
Annual Exam

Time : 3 hrs. Scheme of Questions Paper Total marks : 100
Question Details of Section/ Question Marks
No.
PART-A
1t0 50 50 Multiple Choice Questions, each of 1 mark 50
PART -B
SECTION - A
1t08 8 ShortAnswer type questions, Each of 2 marks 16

* In this section give two internal options.

SECTION -B

9to 14 6 ShortAnswer type Questions, Each of 3 marks 18
* Tn this section give two internal options (Total-2)

SECTION -C

15t0 18 4 Long Answer Type Questions, Each of 4 marks 16
* In this questions give one internal options. (Total-1)

Total Marks 100

Note:

Time one hour for Part-A
® Time two hour for Part-B

e For first test syllabus will be upto first test only and paper style of it will be as per the
paper style of annual exam of 100 marks.

e |n preliminary exam complete syllabus should be covered and its paper style will be as
per the paper style of annual exam of 100 marks.

[2]
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Biology 056 (E)
Std. 12 (Science Stream)
Class - XIlI

Time : 3 Hours Total Marks : 100

Time : 1 Hour Total Marks : 50

Introductions : (1) There are 50 objective type (MCQ) questions in Part-A and all questions are

compulsory.
(2) The questions are serially numbered from 1 to 50 and each carries 1 mark.
(3) Read each question carefully select proper alternative and answer in the OMR sheet.
(4) The OMR sheet given for answering the questions. The answer of each questions is

represented by (A) O, (B) O, ( C) O, (D) O. Darken the circle (@) of the correct
answer with ball pen.

(5) Rough work is to be done in the space provided for this purpose in the test booklet
only.

(6) Set No. of question paper printed on the upper most right side of the question Paper
is to be written in the column provided in the OMR Sheet.

(1)

2)

3)

“4)

)

(6)

What is the speciality of strobilanthus Kanthiana for flowering ?

(A) Everyday flowering shown

(B) Every year flowering shown in particular season.

(C) Every year only one day flowering shown.

(D) Every 12 years flowering shown.

Identifv X and YV from given diagram.

(A) X =Seed, Y=Embryo.
(B) X =Pericarp, Y = Embryo
(C) X =S8eed, Y = Pericarp
(D) X =Pericarp, Y = Seed

By which organ vegetative propagation take place in banana ?

(A) Runner (B) Bulbil (C) Sucker (D) Rhizome
Assertion A : Pollen grain Can with stand high temperature and strong acids and alkali.
Reason R : Exine of pollen grain made up of sporopollenin.

(A) A and R both are true and R is true expatiation of A.

(B) A and R both are true but R is not correct explanation of A.

(C) Ais correct but R is wrong.

(D) Ais wrong but R is correct.

Which temperature is suitable for storage of pollen grain for long duration.

(A) 0'C (B)37'C (C) 100°C (D) -196°C
Identify group from following which have perisperm.

(A) Black piper, Sugar beat (B) Black piper, Pea

(C) Sugar beat, gram (D) Pea, Bean

[4]
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®)

)

(10)

(11

(12)

(13)

(14)
(15)
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Match the Column-I and Column-II properly.

Column-I Column-II
(P) Myometrium (i) Outer most layer of uterus
(Q) Perimetrium (i1)) middle layer of uterus
(R) Endometrium (ii1)) Inner most layer of uterus
(S) Mons pubis (iv) It is made up of fatty tissue

(A) (P-1), (Q-ii), (R-iv), (S-iii)

(B) (P-ii), (Q-1) (R-iii), (S-iv)

(C) (P-ii), (Q-iii), (R-iv), (S-1)

(D) (P-iv), (Q-iii), (R-ii), (S-1)

Choose the option from the following for correct statements.
(1) Sperms take the nutritions from sartoli cells.

(2) Sertoli cells produced androgens.

(3) Leyding cells synthesized androgens.

(4) Leyding cells produces from the Ovaries.

(5) Menstrual cycle not shown duing the pregnancy.

(A) 1,3 and 5 are correct (B) 3 and 5 are correct

(C) 2,4,5 are correct (D) 3,4 5 are correct

After the use of which method no possibility of repregnancy ?

(A) Physical barrier method (B) Chemical barrier method

(C) Sterility method (D) Natural barrier method

Sexual tramitted desire transmitted by which micro organisms ?

(A) Virus Bacteria (B) Fungi, protozoan

(C) Virus, Bacteria, Fungi (D) Virus, Fangi, Bacteria, Protozoan.

Assertion - A : 10 to 17 days of menstrual cycle couple should away from the sexual inter
course.

Reason -R : During the 10 to 17 days of meanstrual cycle maximum possibility of
fertilization is there.

(A) A and R both are correct and R is correct explanation of A.

(B) A and R both are correct but R is not correct explanations of A.

(C) Ais correct but R is wrong.

(D) Ais wrong but R is correct.

IUDs copper devide which put in where as from that copper ions are release and it
function is

(A) More protection given to sperms.

(B) Prevent the process of to release ovum.

(C) Prepared the uterus for embryo implantation.

(D) Obstraction the motality of sperms and fertilization ability.
Chromosomes behaviours is also like genes. Which scientist studied it ?

(A) Correns and Tshermark (B) Morgan and Devries

(C) Sutton and Boveri (D) Mendel and Boveri.

Which situations is responsible for turner’s syndrome ?

(A) XXY (B) XXX (©C) XYY (D) XO

How many percentage of colour blindness in man ?
(A) 0.4% (B) 8% (C) 40% (D) 80 %
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(18)

(19)

(20)

e2y)

(22)

(23)

(24)
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Which genetic code related with two functions ?

(A) UAA (B) AUG (C) CucC (D) GAG
Give the full form of VNTR.

(A) Variable Number of Tandem Repeats

(B) Variable Nucleotictes of Tandem Repeats

(C) Variable Nucleotide of Tandum Ribosmes

(D) Variable Number of Tandem Ribosomes.

Isolation of regments of DNA by the help of which method ?

(A) Gas Chromotography (B) Electrophorosis

(C) PCR (D) Lygase

Thrones of Bouganvelia and tendrils of cucurbita is example of ................
(A) Homologous organs (B) Analogous organs

(C) Vestigial organs (D) None of above.

Assertion - X : Most of the australian marsupials were differ from each other.
Assertion - Y : Australian marsupials were ecoted grom different ancestral stock.
(A) Assertion X and Y both correct

(B) Assertion X is correct and Y is wrong.

(C) Assertion X is wrong but Assertion Y is correct

(D) Assertion X and Y both are wrong.

Choose the proper option for the true (T) and false (F) from the given statements.
(A) Analogous organs - wings of insects and birds

(B) Vestigial organs - Appandix, and wisdom teeth.

(C) Homologous organs - Fore limbs of human, bird, and whale.

(D) Connecting link - Pisces and Reptiles.

(A) TFFT (B) TTFF (C)TTTF (D) TTTT

Which molecule is very important for construction of life ?

(A) Protein (B) Nucleoprotein

(C) Carbohydrate (D) Lipid

Continuous more fever, weakness, pain in abdomen portion headaete and poles are
produce in gut these symptions of which disease ?

(A) Pneumonic (B) Typhoid (C) Filariasis (D) Malaria
Labelled X and Y in given diagram.

Y
7

h=
(A) X =Heavy chain, Y = Light Chain
(B) X - heavy chain, Y = Antigen binding site.
(C) X =Light chain, Y = Antigen binding site.
(D) X = Antigen binding site, Y = Light chain
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Match the columns properly.

Column-I Column-II
(I) Physical barrier (P) Leucocytes
(i1)) Physiological barrier (Q) Skin
(ii1)) Cellular barrier (R) Interferon
(iv) Cytoplasmic barrier (cytokine) (S) Tears from eyes

(A) (i-P), (ii-S), (iii-R), (iv-Q)
(B) (i-Q), (ii-S), (iii-P) (iv-R)
(©) (-Q), (ii-P), (ii-R), (iv-S)
(D) (i-P), (ii-R), (iii-Q), (iv-S)

Which option is not related for crop and its variety

(A) Mustard - Pusa swarnim (B) Okra (Bhindi) - Pusa Swani

(C) Chili - Pusa sadabahar (D) Wheat - Pusa gaurav

Which amino acid ratio is double than now days, hybrid variety of developed maize ?
(A) Lysine and Arginin (B) Tryptophan and Methionine

(C) Hystine and Tryptophan (D) Arginin and Methionine

Statement-X : Sacharam barbary were grown in North India which having low
ratio of Sugar but yield were more

Statement -Y : Sacharam officinerum grown in temple region of South India which have
thin item and low ratio of sugar.

(A) X andY both statement are correct

(B) X and Y both statement

(C) X-iscorrect but'Y - is wrong.

(D) X -is wrong but Y is correct.

Choose related option.

(A) Aspargilus niger - Acetic acid

(B) Acitobacter Aciti - Cirtric acid

(C) Trycoderma polyporum - Statins

(D) Chlostridium butilicum - Butelic acid

Free living fungus Trycoderma where it is useful ?

(A) For the killing insects

(B) For the killiong of ladyberg and dragon fly

(C) As abiocontrolar of plant disease

(D) For the production of antibiotics

Mycorrhiza : glomus fungus

Free living bacteria for nitrogen fixation :

(A) Rhizobium (B) Thiobacillus

(C) Preadomonas (D) Azatobater

Statement-X : Bakulo virus create the disease in insects and arthropada.
Statement-Y : Bakulo virus biocontroller which included in nucleopelyhydro virus genus.
(A) X andY both statement are correct.

(B) Xis correct but Y is wrong.

(C) Xiswrong butY is correct

(D) X anY both statement are wrong.
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(33) Named restriction endonuclause enzyme is
(A) It cut the DNA molecule from specific site.
(B) It identify specific squence for the lined DNA lygase.
(C) It inhibits the process of DNA polymers.
(D) It remove nucleotide from ending of DNA molecule.
(34) Which are the main steps for the formation of genetic modified organism.
(A) Identified the desirable gene with DNA.
(B) Identified DNA introduced in host.
(C) Conservation of introduced DNA in host and transported of DNA in its of springs.
(D) Above all.
(35) According to PCR method which is the collect Sequeue for three steps.
(A) Extension - Annealing - Denaturation
(B) Denaturation - Annealing - Extension
(C) Annealing - Denaturation - Extension
(D) Denaturation - Extension - Annealing
(36) For the getting desirable product for the in bioreactor which desirable situation
provide ?
(A) Temperature, pH, O, and CO, (B) Temperature, pH, O,and vitamin
(C) Reactant, Salt, pH and Density (D) Salt, Vitamin, O, and Pressure

(37)  Which vitamin is more present in golden rice ?

(A) Vitamin -D (B) Vitamin -C

(C) Vitamin -A (D) Vitamin -B,,
(38) First time use of genetheraphy for which disease ?

(A) Adenosine deaminase (B) Arthritis

(C) Diabetes melitus (D)  Small pox
(39) First time use of genetheraphy for which disease ?

(A) Adenosine deaminase (B) Arthritis

(C) Diabetes melitus (D) Small pox

(40) Choose the correct option for 1, 2, 3 and 4. These chart is represent changes in
population ?

Immigration
I
2|l
Natélhty ’ — Populatl(;}s Density N ‘ Mo}t;hty
U4
‘ Emigration ’
E
1 2 3 4
(A) Increase Decrease  Increase Decrease
(B) Decrease Increase  Decrease Increase
©) Increase Increase  Decrease Decrease

(D) Decrease Decrease  Increase Increase

[8]



(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)

oAl HILAHS 27 GAdR HiRs [Agwl ol AR

Which an organism only one time reproduction in total life span ?
(A) Pacific salman (B) Bamboo
(C) Parrot (D) A and B both

Where principle states that two closely related species competing for the same
respurces cannot co exist identifinitely and competitively inferior one will be
eliminated eventually ?

(A) Darwin (B) Gauses’s competitive exhaustion principle
(C) Morgan (D) Mendel

Siberia and other extremely cold northern region thousand of bird are arrival from
the above in which national park of India they becomes host ?

(A) Kevladev (Kedala) National Park - Bharatpur, Rajastham
(B) Kaziranga National Park - Assam

(C) Kanha National Park - Madhya Pradesh

(D) Gir national Park - Gujarat

Grain - Goat - Human

(A) Consumer, Producer, Primary Consumeer

(B) Producer, Primary Consumer, Secondary consumer

(C) Primary consumer, Producer, Decomposer

(D) Producer, Primary Producer, Decomposer

Who tired to put price tags on nature’s life support services recently ?

(A) Darwin (B) Robert Mey

(C) Robert Constanza (D) David Tilmen

Which represented maximum species of global biodiversity ?

(A) Algae (B) Lichens (C) Moss (D) Fungi
How many new region are added in list of Hot sports ?

(A) 9 (B) 25 (C) 34 (D) 10

How many species extinct according [UCN Red list (2004) do comment last 500
years ?

(A) 784 (B) 748 (C) 27 (D) 584
Which collected impurity is found in waste water ?

(A) Silt (B) Bacteria (C) Phosphate (D) Ammonia
When Government of India has panal the environment (Protection Act).

(A) 1983 (B) 1986 (C) 1981 (D) 1984

[9]
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Time : 2 Hours PART-B Total Marks : 50

Introduction : (1)  Write in a clear legible hand writting.
(2)  There are three section in Part-B of the question paper and total 1 to 18

questions are there.
(3)  All the questions are compulsory. Internal options are given.
(4)  The numbers at right side represent the narks of the questions.
(5)  Start new section on new page.
(6) Maintain sequence.

(1)
2)

2)
)
(4)
)
(6)
(7)
(8)

(8)

)
(10)
(11)

(11)
(12)
(13)
(14)

(14)

(15)
(16)

(16)
(17)
(18)

Answer question No. 1 to 8 as directed. (Each question carry 2marks.)
Explain about the zygote formation.
Explain process of microporogenesis.
OR
Explain about infertility.
Describe brief about Co-dominancy.
Explain the words nucleozome and nucleoids.
Explain the molacular structure of antibody. (Diagram is not necessary)
‘In Ecology water is represented as abiotic factor’ - Explain this statement.
Explain about productivity of ecosystem.
Write discuss not about eatrophication.
OR
Explain alien species invasions with example.

Answer questions number 9 to 14 as directed. (Each question carry 3 marks)
Give main characteristics of genetic code.
Explain about origin and evolution of man.
Explain about allergies.
OR
Explain about apiculture.
Give an account about miarobes as biofertilizers.
Describe in brief about genetically engineered Insulin.
Describe about in situ conservation.
OR

Answer question No. 15 to 18 in detail. (Each question carry 4 marks)

Explain with chart the process of female gamate formation in human.

Describe the inheritance of two genes with chart in pea according to mendel.
OR

Describe experiment of Meselson and stal.

Describe about carbon cycle.

Explain vector P™ 322 with restriction locations and cloning to catings in E.Coli.
Describe about tissue culture.

[10]

[16]

[18]
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A 37k : 100

e : I ufiey fomnefl, fares, wifse v Aretet & Ariee & fau § | weafies 6 s=aa qreafies fen &

SETA W1 G T U, W37k Tel Arg ted S1a--37q forea & ufted= s weha € |

T o ITTER 35 fawTer :
ECR) [ (K) | |HS (U) | FTTET (A) a1 Aeiieh whivTed HA
T ( faserooT) | 3raT ( gesien ) 3ieh
PART-A (3) 05 15 15 08 07 50
PART-B (37eh) 05 15 15 09 06 50
HE 3 (%) 10 30 30 17 13 100
ST o YehTY STTH 31k fauTTT (PART-A)
Hih sl WEY s Shi wWE qutieh
1, Tqaet 9sA 50 50
TS o YehT{ STTHT 31k fauTT (PART-B)
FAE | TS T EET Wt Sht AT quTieh
1. T AT 957 (SA-) 08 16
2. Hferad 3T 957 (SA-Il) 06 18
3 foreqa 3T 95 (LA) 04 16
Eayl 18 50
Yer{UT ATAR 3ok TaHT=i :
FH LEal Yeh{UT TTAN T[0T 3k fausm|  IiHe SR UTER
1. Stet | S 05
2. qudt qredi # etfih S 05 20 THE - 1
3. HES STHA 06 20
4. ST ey 04
5, semfa qen fafasan & fagia 09 THE -2
6. emfa & ofvaa eNaR 08 24
7. o 07
8. TS TTEe aT W 08 THE -3
9. QY 3A1eH § gfg &t weiifa 07 22
10. TS Fe H et 07
11, g drenfi ¢ fogia we sifafrm 08 e -4
12. St drefie e SH ST 06 14
13, g 3iR TafEr 06
14. RIEGES 04 THE -5
15. ey ferereran we Ee 06 20
16. ERIEI TR 04
% 37k 100 100

A 2 YO T SFTHR 3ieh TAAISH, Yo7, FHAE o TER & 0 9ae gohd € | Fohq S0 % SR 37k fawieT =2l aIeet Wahel € |
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Hel - 12 (fasm= yarg ) sita fa=r (056)

aTfiren uRE
YSUR Rl UR&T
|OT : 3 90 et 37k : 100
PES P R E) favmT e wes Rt ferawor 3k
PART - A
1950 | g dhicTh TR & 1 St 50 95 50
PART - B
SECTION - A
198 | dfrasaid 23ihs 89 16

s faamd 2 s H stiaien famea s 2 | (FeA-2)

SECTION - B
9H14 | disadd 337 6 4 18
7o T ¥ 2 951 H sriafte fosrea <1 ¥ | (Fe1-2)
SECTION - C
15 ¥18| fogasaias siesh 4 354 16

7 T 1 9 H tiafie fasea S | (Fea-1)

et 3tk (UTieh ) 100

A e Part:A FIEI 1 TU R
e Part:B H 9HI 2 HUS T |

o T T TN 3 oAU §om T % 1 SEs o ¢ | T o UREy Atk ue

&Y 3 TR 100 3k 1 & |
o Tiferart wien ¥ Wyl 7v=TEeRT 1 IS ek 1R TUET o TREY % STTER 100 ek
@
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e - 12 (fa=r= yarg ) sia fa=r (056)

aftres Tt
A : 3 U WA i AR FA 3 : 100
|HY : 1 U HA 3 : 50

(1) 39 9599 H PART-A H S8 WehR & el 50 95 € | qeft W e € |

(2) W HE G 1 W50 T | Tk WS h 1 SR T |

(3) WHF U I 3T e Uea Tal foehed o 997 i |

(4) Y 3T § ST T OMR I § TS % | (A) O, (B) O, (C) 0 W (D)o fau 7 | forw
s ol ST IR TEl B 39 faehed MR U9 H gl el (8) AT BT |

(5) T, g7 gRageh B < T SR H AT B4 |

(6) fouw T gsq o3 § SR et 3R 757 U9 T Fo P OMR e T Suets e H fafau |

(1) e s oy H qodteor s s s ¢ |

(A)  Tfafes qodeRtor 2rar ¢ |

(B) widerd faféra smq o qodieRtor 2 © |

(C) fderd Tk & feard goftentar Brar € |

(D) 1298 § qoferre B © |
2) T SMHAH XUd Y H wEEIT |
(A)  X=dS, Y- 9qu
(B) X -Theltdfd, Y- Ul
(C) X-#9, Y- harafd
(D) X -Thartdfd, Y- &

3) el § i gaeH foreer g1 B & 2

(A) & (B) eHfeThl (C) 3 &y (D) TS
(4)  H - A - WEH I=4 dII9H, Tg TS (3T Td Gge &Rl o 9y fok gond ¥ |

T - R - TR0 1 STEreiel ARG o1 a1 8l § |

(A) ATSRESE, R AT T U@ |

(B) AT R W&l ¢, R, A Tl & GHI ¢ |

(C) AT, R R |

(D) AT, REE T |

[4]
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(11)
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TATHYT Sl e T Tk T8 i o To1T i 91 a9k A § 2
(A) 0°C (B)37°C (C) 100°C (D) -196° C
frefafa § & TRyoaY o0 qug S e ?

(A) et fd, gehat (B) wlait fHE, HeX (C) Fohay, 91 (D) T, 9H
-1 Te FHiTH-11 o 3f=d SIS o1y |

HicTH-| il
(P) W (i) T W WY dTed STeR
Q) UmfzH (i) AT S T SAER
(R) T~eHfeam (iii) e S e ol e
(S) W9 Ffew (iv) T 3Tdehi o o

(A)  (P-i), (Q-ii), (Reiv), (S-iii)
(B)  (P-ii), (Q-i) (R-iii), (S-iv)

(C) (P-ii), (QHiii), (R-iv), (S-i)

(D)  (P-iv), (QHiii), (R-ii), (S-i)
frafafed & 9 W& % arl fases T |

(1) eh1] SEfelt shifdmemati # & G g o ¥ |

(2) wfelt TR T Se R € |

(3) AfET SIfIERT TS o HIATT el € |

(4) AT SRR veeE H ¥ Scael el € |

(5) I =k THiEET S SR el < ST ® |

(A) 1,3TI5TI Sl (B) 3W5TAEl  (C) 2,4, 55T | (D) 3,4Td 5Tl € |
fop ferftr o SwRiT o w9 QA TR (AT G e T R © 2

(A)  iifaes A4 fafy (B) TrEmafier e fafa

(C) deaey fafy (D) Thfce A fafy

o TR e ot gaeeial 3 BRI SR 2§ 2

(A) ey, Sframg (B) TS, WSS

() oo, framy, whemg (D) fere, e, Sfremy, Wersier

A - A - SR Sl ARG ¥k & 10 & ¥ 17 o T& o o= 1 27afel o S AYH | Sl =g |
RO -R - AR %10 | 17 & Te & aie Fiee o6l gofrem gt 21ferss gt € |

(A) ATE RSA H&l, R, AT T T ¢ |

(B) ATH R T, R, Ahl T& G0 LI € |

[5]
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(C) ATE, RTEEE
(D) ATEM, REEI T |
(12) T4 & 3T W (IUDS) H T Hifad i 3T B 1 ...
(A) SRSt XeT B gfg e |
(B) STSIY] o HeKI B ol foha ol Tl |
(C) Tuierd =B T % fery qER R |
(D) RIS el TTfRiterar el o= &man ol U |
(13)  “TUREHT oA SRR oft S ST & ¥’ SR ST A Al SR i € 2

(A) I Td IHTS (B) HFA TH form

(C) HA & dEd (D) W<=d Td aEd
(14)  id faegm % fore forier fefq R & @ 2

(A) XXY (B) XXX (C) XYY (D) XO
(15)  SoTfern =1 SHO qet H foha © 2

(A) 0.4% (B) 8% (C) 40% (D) 80 %
(16)  SIE A W Fafed i o Tk © ?

(A) UAA (B) AUG (C) cuc (D) GAG

(17)  VNTR @l for&qa = fafa |
(A) dIRTEE FeR ATh <en Rdied
(B) dARTIA FfFasiere en Ruleq
(C) IRuaa Ffaasierey eq deEryg
(D) ARWEe FeR T==q qarr=s
(18)  DNA S TE! &l Teorieh g1 geierha Terall ST Hehell © 2

(A) T SHIEEITH (B)  SIERIBRIEH
(C) PCR (D) WIS

(19)  SFFfaferan e T8 R % T T e ¢ 2
(A) HHSIAd (B)  Jededdl
(OREEIREE (D) T

(20) TR - X - TR ST feren & ey th-g ¥ e o |

T - Y - ST feran o o Argfees fae-fis gast o 9 fasfad gu

(A) X TE Y SH HA € | (B) X-HITH YATAT |

(C) Y X 3THA W Y TA ¢ | (D) XTH Y S e e € |
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(21)

(22)

(23)

(24)

(25)

(26)

(27)

oA HILRAMS 24 BRAAR iU [Qaw ol iR

%QWWW(T)%HTW(F)%W%WJW ferehed AT |

() Joaeud - faaferr, gef (i) oTafdm i - wfedm, TaFeee
(iii) TS - AHa, 9afl, = (v) SSdl Hel - A Td {eRed
(A) TFFT (B) TTFF  (C)TTTF (D) TTTT
Sfrer T=T o feTu, tedd Heerqul o1 & € |
(A) 9 (B) IfRMEMIEH  (C) FEERSS (D) fafrs
9 9@, FARI, Ie T8, iR o2 ud o7 § o3
(A) =R (B) TTAHES (C) weft Tar (D) T
A TE A H X TH Y H AT R |

/

X- 34 Sf@el, Y - o SEe

(A)

(B) X- T S@a, Y - Yo a4 T
(

(

C) X-Y @, Y - idord ateh e
D) X - UfdSH Stk TJad, Y - oY @l

3faa Sret g |

HITH - | e - I
IR GUEER ] (P) &aTT]
iy SR Y (Q) I

i A4 (R) ST
RIS U (S) ATEl & Y

i)
)
)
) (-Q), (ii-S), (iii-P) (iv-R)
)
)

(
(
(ii
(iv
(
(
(
(

A) (i-P), (ii-S), (iii-R), (iv-Q)

B

C) (), (i-P), (i-R), (iv-S)

D) (i-P), (iR), (iii-Q), (iv-S)

A Td SHH TR % U arid e A W E 2

(A) T - gE e @®) fauel - g

©) e - g TR (D) & - g T
ferger Hert Tehl 1 Tl ¥ e He weeh i ien foe Sl wHie i /e e T © ?
(A) TEEH TS e @®) feere wd faefea

(C) TIEN Td feer (D) TS we faefar
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(28)

(29)

(30)

(31)

(32)

(33)

(34)

oAl HILAHS 27 GAdR HiRs [Agwl ol AR

T - X - TohH AE ST TR H U7 TR Tt ot | st 9l bt |13 e oifehd UeTaR SeeT of |
FT - Y - Yoy SMRTEH SFeqor ad H SWrehiea s § 3Tt off TS9H a1 9den U 3kl ki /5
HY o |

(A) XTE Y3 FoH T ¢ | (B) XTUd Y S e 3 € |
(C) X T WY o STA T | (D) XIEA WY Y FF TAE |
Ta (W) faeheq gfeu |

(A) TERFEH TER - TEifes TfEe

(B) THICTIRY T - wEfee Tfe

(C) TTIHISH Wl qRE — R4

(D) e SRR - Ferfe ufas
TeSiie $eTE ZEshiSH et STFm € 2

(A) FIt & fomme & fag (B) ISIaT Ud SIYAM™ o 9

(C) UIEd UM o ITER & forw (D) TSI (iastiaeh) & Scared & ferg |
TSNS — TAMHY HolTg o1 TS Eadidha Sasial Sem]

(A)  TESIETEH (B) UmESTae™

(C) TEHEAE (D) TSR

H - X - Sl TG HIS 1 37 slelitied H T Seuel FRaAl B |

A - Y - Sepedl AR Stel e ¥ | Toeh) amee st sl ey 5y H ¢ |
(A) FUAX TS Y SH T T | (B) U X A AMFITY FEAT |
(C) FEAXIFI TN Y AT | (D) T XTE Y H ATAE |

R T folUs e TTEH ..o
(A) DNA  319] sl Tifd T § e € |
(B) DNA RIS % U] &1 Sire 3 forq, faraiierge & fiid a & we=ma ¢ |

(C) DNA TTeATHIST ek TTEH ohi foha ol Uehell ¢ |

(D) DNA 319 & foFR ¥ =Jferisiierse i g i ¢ |

Zieifen Sttt o foretor 3 geryd =1 b 8 |

(A) sfeea (aifed) SiH gad DNA o 989 |

(B) TEHM fHU T DNA ol ISHM (TRUTSY) H Jast

(C) JAfSTd DNA I TRUTSt § gRferd Tam qen S9eht Tafd H TMidid e |
(D) UV Gt

[8]
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(35) PCR ifferen & die =0l & Hel o6 1 © 2
(A) SUSHTHR A foEaR - arreiter - itk
(B) TafeRaator - ATUTEier - SUshMe &l fowar
(C) dmrRied - FfEhaeRtor - UM @ far
(D) TSRO - kTR ol o - ArdTRfier

(36)  lifesd Seare T A o6 foq SrARuee s o s it ger s § 2

(A) THT, pH, O, T CO, (B) AT, pH, O, Td ferereft
(C) wferanedf, & pH T = (D) &R, frifiF o, T 7
(37) W = § fore fereria it wmn stferen Bt © 2
(A) foerfa=-p @®) fwIfm-c
(C) ferefigT-A (D) foerf® -8B,
(38) i fafercan o1 Wawem SR fohe U ok foTq gam o1 ?
(A)  TSHERT ST (B) snefsfea
(C) SHEfads Hefle D) =
(39) HHE WA O - 1 TATEA 1 S9anT fersh STER H el 2
() el (B) T
(C) THERHTH D) Hw
(40) 1,2, 3 T 4 % fou w&t fashey T |
SYATEH
I
2}
= |2 TS A
U4
‘ SHAA ’
E
1 2 3 4
w  Jfs Gl ELE ETl
®) afs Bzl afs
©)  dfs gig T T
©) E2il g5 Ifs
(41)  STererel # Toh €l o) S shaTell Site il ¢ 2
(A) ufafthen |rend (B) «d
(C) (D) ATIB <Ml
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(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)

oA HILRAAS 24 B2 Hi[Us (D ol Aidl-01R

T & TR h B (ST 3 ot et (wferifiren) s et &1 S Seifer St s qo @b
1T Q1e T} T8 Fehel! 3727 9 Sfeded Téf Tt 7R Tasienshar | e1=qd: sifean sifd =i oo o fean
ST 7 forem fere & 2

(A) sifed B) e = Tt srvesH fram

(C) Wi (D) WH=a

qrzaifian wa 37 2Afaerd S5 v Sad foari H ¥ eyHaret g gelt wRa o fohe U S &
TR HEHH S ¢ 2

(A)  HIRE TR UM - TRAR — T

(B) SIS T I — A

(C) T U I&M — AU
(D) TR U &M - T[0a
T —> T — A —> o Sl STER Gael H et gares e @ ?

(A) U, ScaTEeh, WTeITHeh ST

(B) SIS, TAHE S, Tgatd SqHra

(C) WIfHeh SUTe, 3cqTesh, foaseeh

(D) ST, WTHeS U, faees

frfafea # 9 forg mikfafas foamemeis yeia o S gqeies qarsti st T s faifia e
1 gATd e ?

(A) T BRECE: (C) a2 et (D) efere dremm
Sfien Sia-fafagar o Sed § i Tad i Sl & grarrac e ¢ ?

(A) FereT (S (B) TEeh4

(C) @ (D) oM (SHerh)

Fle-Tre &l ot g H 91e H fora e & wimfed fee e 2

(A) 9 (B) 25 (C) 34 (D) 10

IUCN TS 2004 3 S&rast WU o SER fuset 500 @i # ferait Sfcal ofw &1 T € 2
(A) 784 (B) 748 (C) 27 (D) 584

STAARTT 71 T o e § A (Colloid) Tered % &4 H @i ©t e1gyfg et ® 2

(A) TIQ (B) Sftemyy (C) HITHS (D) T

e (Ter) srfafTam, wRa weRr g fog ord # ifi o o 2
(A) 1983 (B) 1986 (C) 1981 (D) 1984
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PART-B
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A 3k : 50

e i w8 fafa |

TS % PART-B T i T & iR et 1 918 W7 € |
guft gs sAfyemd § | sidfies fashey feu T g |

Tfet 3T 95 o 37k feg T |

T1 f99mT 9T 7= W (Page) faf@m |

T & I HAER faraw |

30 faumT & et 8 WeT € | Udeh o 2 3wk ¥ | FdemEm s fafed |

S 1 AT Sy |
TSSO Shi foRa THemsy |

S o IR H FEeET |

Fegaifad o IR § U= |

fFTaEg e fFrsiise AHH I THET |

TaTEl (eeft) W S7u] TEET GHEST | (3Tl Sl e ¥ 1)
“qififeerfaen fomm (wiftds) & At erifersh ek & %9 H B ¥ 1 HHEEy |
R ScAIEHT o IR H FHET |

AT (FSTRIRIHE) h IR H STTeir=Tedeh fewft fafay |
3T

foreeft snfaat o STFAY o IR H ISR Ffgd THSAET |

[16]

=0 faumT # et 6 U & | Uelieh ok 3 3ieh & | 3tiafien farere fag 7w | Fréemar o fafan 1 (18]

ST e F T FsraT fata |
TS i eIt Ta 35 o 9k | THesy |
TSl o IR T AT |

3reraT
TRt e W feooft fafe |
SISt % &9 H gemsiei & 9n # fafey |
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(13)  sTaifeRa: faft gr1 s~gfer =1 frmior wwesT |
(14) TEIM (37 foe) Herm o ar ¥ Hiwa femoft fafea |

3reran
(14) e =or T foreqq feopoft forfia | (st st =121 2 1)
@ =T oM Fel 4 U | WO WA W 4 37 ¢ | Siafieh fohey Ry MU R | [16]

g1 & forga s fafa |
(15) HAMd § HIG IS i 551 912 Afed THesy |
(16) H=c o HAER HeX | T A1 bl S9Tfa =1 afed THeiey |
3reran
(16) HYHA Ud WA & TANT o1 U T |
(17) S-S FATT GelTEeh BR 322 H AfaieH Tl ShaTel FAll-1T T TS | (P A9
TR
(18)  Saeh HadH W fogqa feuuft fafam |
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STD.-12 (SCIENCE STREAM) CHEMISTRY (052)
ANNUAL EXAM
TIME : 3 Hours SCHEME OF QUESTION PAPER Total Marks - 100

NOTE : This blueprint is for the guidance of students, Teachers, Examiners, Moderators etc. The moderators,
Teachers and experts in higher secondary of the respective subject may do essential changes keeping
the objectives in mind.

Weightage as per objective :

Objectives Knowledge | Understanding Application Higher order thinking skill | Total
(K) (U) (A) Marks
Part-A Mark 05 13 17 15 50
Part-B Mark 05 15 15 15 50
Total Mark (%) 10 28 32 30 100

Weightage as per type of question : PART-A

No. Type of Question No. of Question Total Marks
1. Multiple choice questions 50 50
Weightage as per type of question : PART-B
No. Type of Question No. of Question Total Marks
. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50

Weightage as per Chapter :

No. | Name of Chapter Chapter Unit
Weightage Weightage
1. The Solid State 7
2. Solutions 7
3. Electrochemistry 8 Unit- 1, 36
4. Chemical Kinetics 8
5. Surface Chemistry 6
6. General Principles and Processes of Isolation of Elements 5
7. The p-Block Elements 7 Unit - 2, 26
8. The d-and f-Block Elements 6
9. Coordination Compounds 8
10. | Haloalkanes and Haloarenes 6
11. | Alcohols, Phenols and Ethers 6
12. | Aldehydes, Ketones and Caboxylic Acids 6
13. | Amines 6 Unit - 3, 38
14. | Biomolecules 6
15. | Polymers 5
16. | Chemistry in Everyday Life 3
Total Marks 100 100

Note : Chapter weightage may be change for different question paper. But unit weightage can not be change.

[1]
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STD.-12 (SCIENCE STREAM) CHEMISTRY (052)

ANNUAL EXAM
SCHEME OF QUESTION PAPER
TIME : 3 Hours Total Marks - 100
No. Of Information of Section and Question Marks
Question
1 to 50 PART - A
Multiple choice type 50 questions of 1 mark each 50
PART -B
SECTION - A
1t0 8 8 QUESTIONS OF 2 MARK SHORT QUESTIONANSWER TYPE 16
In this section total 2 internal options will be given (Total 2)
SECTION-B
6 QUESTIONS OF 3 MARK SHORT QUESTIONANSWER TYPE 18
9to 14 In this section total 2 internal options will be given (Total 2)
SECTION -C
15 1018 4 QUESTIONS OF 4 MARKLONG QUESTIONANSWER TYPE 16
Inthis section total 1 internal options will be given (Total 1)
Total Mark 100
Note: e Timeone hourforPart-A

® Time two hour for Part-B

e For first test syllabus will be upto first test only and paper style of it will be as per the
paper style of annual exam of 100 marks.

e In preliminary exam complete syllabus should be covered and its paper style will be as
per the paper style of annual exam of 100 marks.

(2]
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=

QI:B1-12 (Science Stream), Sub. Chemistry (052)

Annual Examination

Sample Paper Total Marks : 100

Time : 1 Hours
Instruction: (1)

(2)
3)
4)
)
(6)
(7)

Total Marks : 50

There are total 50 objective type (MCQ) questions in part-A and all questions are
compulsory.

The questions are serially numbered from 1 to 50 and each carries 1 mark.

Read each question carefully, select proper option and answer in the OMR Sheet.
The OMR Sheet is given for answering the questions. The answer of each question is
represented by (A) O, (B) O, (C) O, D (O). Darken the circle of the correct answer
with ball-pen.

Rough work is to be done in the space provided for this purpose in the Test booklet
only.

Set No. of question paper printed on the upper right side of the question paper is to be
written in the column provided in the OMR Sheet.

Use of simple calculator and log table is allowed if required.

(1)  An Ionic Solid A'B” Crystalise like rock salt if all atoms along one body diagonal are removed
then what is the formula of substance ?

(A) A12B15 (B) A12B17
(C) A13B15 (D) A13B14
(2)  Which of the following defect is not exihibitted by Nacl ?
(A) Schottky defect (B) FCentre
(C) Impurity defect (D) Frenkel defect
(3) Inwhichofthe following compounds crystal have axial distance relation is different from other ?
(A) KNO;, (B) HgS
©) K,.(Cr,0, (D) Sg(m)
(4) Thecorrectorderof F.P.ofgivensolutionis..............
(1) 0.1 MCH,COOH (agq) (i) 0.1 M CH,;COOH (CHy)
(iii) 0.1 M CF,; COOH (aq) (iv) 0.1 M CH,COONa (aq)
(A) iv<iii<i<ii (B) iv>iii>i>ii
(C) iii<iv<i<ii (D) iv<i <iii<ii

(5) Onthebasis of given figure select correct option.

0.

[ [
I M T 0.05 M

Aniline SPM  Sodium
Hydrochloride Terpthallate

[4]



(6)

(7

(8)

)

(10)

(11

(12)

(A) Formation of precipitate of terpthallic acid in side B.
(B) pHofsideAdecreases

(C) Osmosis will notoccur

(D) Concentration of solution in side A increases.

The % w/w of solvent in 40 % NaOH solutionis.......................
(A) 60% (B) 66.6% (C) 40% (D) None

Select correct option for True (T) and False (F)

(1) Intheunitcellof Nac] thereare4 NaCl units present.

(i1))  Atvery high temperature paramagnetic substance changes to ferromagnetic substance.
(iii) CrO, isferromagnetic and has conductivity as that of metal.

(iv)  Solidammonia is molecular solid having low melting point.

(A) TFTT (B) TTTT
(C) FFFT (D) TFTF
S) @

For given electrochemical cell if Ecell=0.90V Al ‘ Al (xM)‘ ‘an* (0,0IM)‘ Zn (s)
X= eieeeiinnns E°A1|A17=1.66V,E°zn|zn*'=0.76V

(A) 10°M (B) 10°M

© 10°M (D) None
Which of the following cell is working acidic medium ?
(i) Drycell (i) Mercury cell
(ii1)) Lead Storage cell (iv) Ni-Cdcell
(A) (D), (i), (iv) (B) (i), (ii), (iii)
(©) (1), (i) (D) Only (i)

If pentane is used as fuel in fuel cell then it’s Gibb’s free energy change is expressed is ..............
(E°’=1.23V)

(A) AG’=-32F(1.23) (B) AG'=-8F/1.23

(C) AG'=—4F+1.23 (D) AG’=-8F(1.23)

When 1 mol of potassium succinate is electrolysed between Pt electrodes, number of moles of
gaseous product obtained at cathode and anode are respectively.

(A) 1,3 (B) 2,3

© 2,2 (D) 3,2

Select incorrect statement.

(A) Theinversion of sugar is bimolecular reaction and kinetically Psuedo first order reaction.
(B) Thehydrolysis of ester in alkaline medium is 2" order reaction.

(C) 2AgNO;+BaCl, — 2AgCl +Ba(NO,), is fast

(D) Increase intemperature of reaction increases rate due to decrease inE,

[5]



(13)

(14)

(15)

(16)

(17)
(18)

(19)

(20)

dopAd HIRIMS w1 GadR HiRs [Qge olls, oo

Thereaction betweenNO,,, and Br, , follows reaction mechanism as given below.

(2
NO(g) + BrZ(g) #NOBI"Z(&,) (Fast)

NOBrZ(g) + NO(g) - 2NOBr(g) (Slow)

the order of reaction withrespectto NO , is .................

(A) 3 B) 2 <€ 1 D) 0
Which oxide cannot be reduced by C ?
(A) Cu,0O (B) Fe,0, (C) ZnoO (D) Al,0;
Which of'the following is not an oxide ore ?
(A) Magnettite (B) Zincite (C) Cuprite (D) Siderite
Which of the following is mondgas ?
(A) CO (B) NO © I (D) NH,
Which of the following does not show tyndal effect ?
(A) CuSO,,, (B) Mist (C) Milk (D) Gum
B
excess AgNO, excess KI

AgNO,
P Q
In the above diagram colloidal partial of Agl are obtained then.....
(A) Invessel Pchargeoncolloidis+ve (B) Invessel Qcharge oncolloidis —ve

(C) InvesslPcharge oncolloidis-ve
(D) BothA&B

Which reaction involved in ostwald process ?

(A) Oxidation ofammonia in presence of Pt catalyst.

(B) Hydrogenation of vegetable oil in presence of Ni catalyst.
(C) Oxidation of NOby O, in presence of NO catalyst.

(D) Oxidationof SO, by O, inpresence of Pt catalyst.

(A) Thresholdenergyis X+Y—-Z
(B) Ea(rev)=X+Y

(C) AH=Z+X

(D) Eac< Ea(forward) >Ea(rev)

[6]



21

(22)

(23)

(24)

(25)

(26)

27

(28)

(29)

dopAd HIRIMS w1 GadR HiRs [Qge olls, oo

The correct order of b.p. ofhydrideis....

(A) PH, < AsH; < NH, < SbH, (B) H,O > H,Se > H,S > H,Te
(C) HF > HI > HBr > HCl (D) HF > H,0 > NH, > PH,
Which of the following halide is hydrolysed ?

(A) NH, (B) SF, (C) PF, (D) IF,
For given reaction select incorrect option

P, + SOCl, —» PCl,+OxiceofS + CholorideofS

(A) Oxidationof Sinboththe productare +4 and +1 respectively.
(B) 10molof P,gives 40 moles of oxide of S and 20 moles of Chloride of S.

(C) Total moles of product obtained from 1 mol of P, is 10 mol.

(D) Inthisreaction sulphur is disproportionated from+4to +6and —2.
Select in correct statement.

(A) Solid PCI; existas [PCl,] [PCL]

(B) Solid PBr; existas [PBr,] +[Bf]

(C) Theanhydride of HCIO, is C1,0,

(D) NO,oncooling becomes paramagnetic.

The correct order of Paramagnetic momentis..............

(A) cr’ < Mn’ < Fe” (B) Cu’” > Zn" < Co”
(C©) Ti" <V’ <Co” (D) cr <cr' <cor
Which product of Mn are obtained on heoting KMnO,, at 513 Kiis............
(A) K,MnO, Mn,0O, (B) K,MnO,, MnO,
(C©) Mn,0O;,MnO (D) Mn,0,,MnO,

Identify incorrect statement.
(A) Lantharoid contraction is the accumulation of successive shrinkages.
(B) Duetoianthanoid contraction atomic radii of Nb and Ta are same.

(C) Sheilding effect of 4f e is more than thatof5de
(D) Ce(OH), is mostbasic while Lu(OH), is least basic among hydroxide of lanthanoids.

The correct hybridization of transition metal ion/atom is.....

(A) K,[Ni(CN),]— sp’ (B) [Ni(NH,)]" —d’sp’
(C) [Fe(CO),] — spd (D) [Fe(CN)]" — sp'd’
Which complex is colourless ?

(A) K,Cro, (B) [Zn(NH,)]"

(C) [Fe(CN)]"~ (D) K,[MnO,]

[7]
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(30) The maximum stabilization energy is associated with ........

(A) o (B)
© CH,— CH—CH,

_ (0]
(©) @COO (D) L
- J

2
(31) Which of'the following is not an electrophile ?

(A) “CH, B) °NO, (C) BF, (D) CH,C O
(32) Thecorrectorderof Pkb valueis................

(A) F>OH >NH, > CH; (B) CH, > NH, >OH > F

(C) OH>NH, >CH; > F (D) NH, > OH > CH; > F

(33) Themoststable product of following reactionis......................

CH,— CIH_ CH==CH, HBr > (?)
CH,
(A) CH; — CIH_ CIH — CH,4 (C) CH; — CIH_ CH, — Cle
CH, Br CH, Br
Br H
I I
(B) CH;,— (lj— CH,— CH, (D) CH;,— ?— CH,— CH,
CH, CH,Br

(34) Themoststable product of dehydration of DCHZ ~on —H 4 g

w O w O
o O o Oran

(35) Thenumber of possible aromatic ether for compound C¢H,,0 is

(A) 4 B) 5 € 6 (D) 3

[8]
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(36) Inwhichreaction productis mentioned incorrectly ?

OH OH OH
(A) _ (B) on NO,
3H,/Ni n s
Br Br
NO,
OH OH
OH OH
© @ LEOEER © (D) @ Brycs, ©
—2>
Br

COCH,4

(37) Which of the following will not give cannizaro reaction ?

a o ®
1
CH, - C-CHO Cl-C-CHO
1 1
CH, Cl

©) @ D)
@ e o @CHZ— CHO

(38) Identify the final product in the given reaction below

Ca - Salt of (i) heat s Product
adipic acid (ii) Zn - Hg/HCI
(A) n-Pentane (B) Cyclopentene
(C) Cyclopentane (D) n-Hexane

(39) Identify correct order for given property.
(A) C,HiNH, >(C,H;),NH > (C,H;), N (basic strength in gas phase)
(B) (CH,),NH < C,H;NH, < C,H,OH (boiling point)
(C) CH;NH,<C,H\NH, < (C,H;),NH (Solubility in H,0)
(D) p-nitroaniline <p-toludine < aniline (basic strength in H,O)

(40) Which compound responds to carbylamine best ?
(A) p-Methyl benzylamine
(B) N- Methyl-0-Methylamiline
(C) N-Ethyl-N -Methyl ethanamine
(D) N,NDimethyl amino benzene

[9]



(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)
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Select correct statement for given compound

HN CO
O=OM
1 I1

(A) Ring(I)is more reactive than (II) towards electrophillic substitution.

(B) During bromination in presence of anhy AICl, - Br group enter into ring (II) at para positon.
(C) CO-group shows (+1) effectand NH group shows (+R) effect.

(D) Boththerings have same reactivity towards electrophillic substitution reaction.

Find the end product in the given reaction.
Br,KOH (HKH/KOH LiAlH,
—>

CH,CONH, X Y —>©@
(A) CH,CH,NH, (B) CH,NH, © CHN=C (D) (CH,),NH
Number of chiral C-atom in glucose are...............
A) 4 B) 5 <€ 3 D) 6
Which amino acid does not have primary amine group ?
(A) Proline (B) Glycine (C) Alanine (D) Glutamicacid
Which hetero cyclic base is absent in DNA ?
(A) Adanine (B) Guanine (C) Uracil (D) Thymine
Glucose does not react with
(A) HCN (B) NaHSO, (C) NH,OH (D) C,H;NHNH,
The oxidant which is used as an antiseptic ?
(A) KMnO, (B) Phenol © L (D) KNO;,
Which of'the following is not an addition homopolymer ?
(A) SBR (B) Naturalrubber (C) Teflon (D) PVC
Correct pair of polymer and it’s monomer is...................
(A) Nylon-6 — Caprolactum (B) Neoprene — isoprene
(C) Orlon - CH, =CH- CH=CH, (D) Bakelite — Choroprene
Which Polymer has PDI valueisequalto1?
(A) Nylon -6 (B) Starch (C) Bakelite (D) Valcanized rubber

[10]
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Time : 2 hours PART -B Total Marks :50

Instruction: (1) Writeinaclear handwriting.

(2) There are three sections in Part-B of the questions paper and total 1 to 18 questions
are there.

(3) Allthe questions are compulsory. Internal options are given.

(4) Thenumbers atright side represent the marks of the question.

(5) Startnew section on new page.

(6) Maintain sequence.

(7) Use of simple calculator and log table is allowed if required.

(1)

2)
€)
(4)

&)
)
(6)
(7
®)

®)

€)

©)

(10)
(11)
(12)
(13)
(14)

(14)

Answer question No. 1 to 8 as directed. (Each question carry 2marks.) [16]

Certain order of reaction rate constan is at 500 K and 700 K temperature are 0.02 S™ and 0.07 S~
respectively. Calculate Ea and K of'this reaction.

Describe the method useful for concentration of sulphide containing ore.
Give structural formula of optical isomers of [PtCl, (en)z]2+ complex ion.
Give the equation of reaction of preparation of benzyl alcohol from toluene in two steps with
necessary reaction conditions.
Explain carbylamine test with one reaction.
OR

Write the equation of preparation of diazzoniumchloride salt from aniline give its two
charectistics.
Prove the presence of - CHO group in glucose by giving equation.
Write equation of preparation of PHBV from its monomer. Give its two uses.
Give two points of differnce between biosoft and biohard detergents.

OR
Whatare called food antioxidans give two examples.

Section -B |

Answer questions number 9 to 14 as directed. (Each question carry 3 marks) [18]
Explain mechanism of micell formation with figure.
OR
Give six point of difference between lyophillic and lyophobic sols.
Derive the equation of integrated rate constant first order reaction (Graph is not required)
How does nitrogen differs from other elements in its group ? Six Points.
How are interstitial compounds of transition metal are formed. Give two characteristics.
Derive the value of packing efficiency of body centered cubic close packing in three dimentional.
Write only the reactions of HI with given compound.
(i) 1- Propoxy propan
(1) Methoxybenzene
(ii1)) Benzyl ethyl ethar
OR
Write the equation of the following conversion with reaction condition. Phenol into benzoic acid
in three steps.

[11]



(15)

(16)

(16)

(17)

(18)
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| Section-C |

Answer question No. 15 to 18 in detail. (Each question carry 4 marks) [16]

0.6 ml acetic acid having the density 1.06 g mL™" is dissolved in 1 litre water. It’s shows the
depression in freezing point of 0.0205° C. Calculate vant haff factor and Ka of an acid.

For acetic acid the graph of Am — JC at infinite dilution is not useful for obtaining molar
conductivity. why ? A’ m NaCl, HCI and NaAc are 126.4, 425.9 and 91.0 S cm’mol™ and

respectively calculate A’ mof HAc.

OR
Three electrolytic cells A, B, C which contain ZnSO,, AgNO, and CuSO, respectively. They are
connected in series. In cell B, 1.45 g of Ag is deposited on cathode when 1.5 amp current is passed.
How long current might have passed ? What mass of Cu and Zn might have precipitated ?
(Ag=108,Zn=65.4,Cu=63.5 g/mol)
Answer the following questions regardity K [Cr(H,0), (0X),]3H,0
(1)  Write [UPAC name.
(1) Mention coordination number and magnetic moment.
(ii1) Give the filling of electrons in d-orbital according to CFT.
(iv) Mention the number of optical isomers.
Give only the equations of reactions of preparation of benzoic acid with proper conditions from
following compounds.
(i) Ethylbenzene
(1)) Acetophenone
(ii1)) Benzonitrile
(iv) Etnylbenzoate.

[12]
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el - 12 (fa=r garg ) s faam (052)
aTfren Tter
HAY : 3 HUe WoqF Rl UEd et 3k : 100
e : 78 ite faraneft, ferss, wif=en W& Aretet o Aniee o forq § | Areafies Td St areaties e &
SEY & W1 GHTA T U, W51 U Areted 1o+ -7 form H ufted s gehd ¢ |

VI ok ATAN 3ieh faursT :
ELtp] A (K) | HEHA (U) | ST (A) ool SeTi{eh hIvTed e
3ih
PART-A (3) 05 13 17 15 50
PART-B (37eh) 05 15 15 15 50
FHA 37k (%) 10 28 32 30 100
ST o YehTY STTH 31k fauTTT (PART-A)
Hih sl WEY s Shi wWE qutieh
1. g 9 50 50
TS o YehT{ STTHT 31k fauTT (PART-B)
WU | WSl o @y st WS qutieh
1. T AT 957 (SA-) 08 16
2. wiere 3Ta 95 (SA-1) 06 18
3. foreqa 3T 95 (LA) 04 16
HA 18 50
YeR{UT TR ek faersi :
hH Yeh{UT Weh{UT STTEI UTHR 337!? STTEN TTUTHR
1. 3 ST 07
2. faem 07 THTE - 1
3. YA T 08 36
4. A T 08
5. EERTIRE] 06
6. Tt o fremeor & fagia 05
7. p - Sh & acd 07 THS - 2
8. d Td f sl & e 06 26
9. ITEE G Alfen 08
10. Tl Teehd AT gl T 06
1. Toehig, Tt Td $eR 06
12, TCSIREE, FIEH Td Heiiders [ae 06 ECOER
13. T 06 38
14, S a7 06
15. ERSED 05
16. e St 3 A 03
FHA Ik 100 100

A 2 TR0 % IFTHR Sieh TAAISH, FoA0, FHAT o SER & TR oget Tehdl € | g SomE 3 TR Sieh faoi =8l sIeed Wehel € |
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aTfiren uRE
PESLERCIR TR
|OT : 3 90 et 37k : 100
U hHh faumTuE wet @t faarot qutieh
PART - A
1950 | g dhicTh TR & 1 St 50 95 50
PART - B
SECTION - A
198 | dwitTaswd 23iws 89 16

s faamd 2 s H stiaien famea s 2 | (FeA-2)

SECTION - B
9H14 | disadd 337 6 4 18
7o T ¥ 2 951 H sriafte fosrea <1 ¥ | (Fe1-2)
SECTION - C
15 ¥18| fogasaias siesh 4 354 16

7 T 1 9 H tiafie fasea S | (Fea-1)

et 3tk (UTieh ) 100

MT:e Part:A FHEHI 1 TR
e Part:B & THI 2 HUS T |
o T T THEN ¥ fAT em T a1 SrereHy o § | T 6 uftey anftes whan %
&Y % TR 100 37k 1 & |
o fufermdt wdien & ol 1w o GHIe ek aften en % gy % STER 100 ek H & |

[2]



oA HILUMS w1 GudR HiRs [Qge olls, aidloR

HT-12 (s garg ) var= fa=m (052)

anTfiren Tter
qUT : 3w I SUE QR LE el 37 : 100
THY : 1 U FA 3F : 50

O (1) @Y H a8 YR oot 50 U5 € | el we SAferd € |

Q) IR HEAEE 1 Y507 | TAFISAH | 3he |

(3) W et bl 3=l TiE TaHT TR Wl ferened ol fora |

(4) 3T T feU T OMR TFE H W % EWHA (A) O, (B) O, (C) O, (D) 0, few mu & | e
T R IR W Bl 3 Foehed oh TeeRR ohl U H 01 e (@) AT 3T |

(5) feuu s q3 s SR elfel AR 92795 e T S OMR Hie H Sqets et § ferfeu |

(6)  THHE ¥ T it H <t T ST H AT 8 |

(7)  fe ST gaTl il el shoehele 3T AIfeTel (Log Table) 3 SUANT ol STl &1 STl & |

(M

2

3)

“4)

)

TR 31 A'B™ Ueh Fiee o AT THEHI0T F shidl & | ST Teh 37 farepol o geft wemm) QU s o

ST T S At Tl A STUTEH SR 21 2
(A) A,Bj (B) A,B,
(C) A13B15 (D) A13B14
Frer 1 G s o effa NaCl =21 ggitar 2
(A) VRHIE (B) F-F=<m
(C) Agfgafa (D) bt effd
e 1 9 forg ifiren S Trfe e 1 S1afi o7 o ey 317 9 STe USdi e ?
(A) KNO; (B) HgS
(©) K,(Cr0, (D) Sg(m)
faw T forer 3 fewish stee (F.P.) FHEl A T |
(i) 0.1 MCH,COOH (aq) (ii) 0.1 MCH,COOH (C H,)
(iii) 0.1 M CF,COOH (aq) (iv) 0.1 M CH, COONa (aq)
(A) iv<iii<i<ii (B) iv>iii>i>ii
(C) iii<iv<i<ii (D) iv<i <iii<ii
To@ T 31TeRf o SR R T T =4 |
A B
P S e
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(6)

(7

®)

©)

(10)

(11)

(12)
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(A) ITT-B T S TTeh TEE & |

(B) 9M-A W& faferma s pHHE S|

(C)  TRTEROT 51 el Il |

(D) |T-A T % foreraa 1 F-gai d ghg e 2 |

40% w/w NaOH o foeraq 5 faamaes e % W/W &I 2

(A) 60% (B) 66.6% (C) 40% (D) =EE
AR TAC (T) Td STT@ ke (F) 1 wet fasheq 94 |

() NaCl HIFRHT 4 NaCl T SUMETE |

(i) TR g=a qTd W SR qere wiie grershia uere # qietad e |
(ifi) CrO, g Jrrea ¢ qet o= =erehal 41 S aaH & |

(iv) STH-3THIT= SA0Tfereh SIE & | qei 9 TTetish Tea ¢ |

(A) TETT (B) TTTT
(C©) FFFT (D) TETF

o o N b e @
foreg TR s B fere afe Ecell=0.90V Al ‘AP*(xM)HZn”(O.OlM)‘Zn (s)

qen E°A1|A1+3=1.66V,E°zn m> =076V T X=......cien....

(A) 10°M B) 10°M

€) 10°M (D) =R
SR A T i 1 S 1 FCAT S |
() Y- (ii) PR -
(i) TS ERATA (iv) Ni-Cd &
(A) (@), 1), (1v) B) (D), (i), (ii1)
(©) (1), (1) (D) e (i)
Ife S e H 9F T H U 1 S FoRAT STl & A S9! Got Soit G sl qeifaa gea ..., |
(E°’=1.23V)
(A) AG°=-32F(1.23) (B) AG'=-8F/1.23
(C) AG'=—4F+1.23 (D) AG°=-8F(1.23)

STl | e Ui T werdi=Tet < forgd sTasree Pt forgd s o site fohern ST & 1 WS U sheire fogd 4

YT B o7t T 3 foh Hiet G@n shu e ...
(A) 1,3 B) 2,3 (C) 2,2 (D)3,2

ST U I |

(A)  S[EhIS B ShHT g~ ST0TTereh Uel STITEl W she ot SIfaferan € |

(B) & wreem ¥ WEe oh ferega erosre feea shm ot erffsran 2|

(C) 2AgNO,+BaCl, — 2AgCl,+Ba(NO,), g a2 |

(D)  dT9HA T gfig ot A TEEfTeh SAffenan av aed & o foh aisha s sedi € |

[5]




(13)

(14)

(15)

(16)

(17

(18)

(19)

(20)

NO

(o 3T Br, ,, 1 afferan fore wramaforss siffsren =t foranfaft s srgero st |

NO, + Bry,, = NOBr,,, (f=)
NOBrz(g) +N0(g) - ZNOBI”(g) (7<)

NO,,, wa= 4 sfufsman e

(A) 3 (B) 2 ©) 1 (D) 0
S T ATRIEE C R gR ST 8t &I |
(A) Cu,0 (B) Fe,0, C) Zno (D) ALO,
e o S |1 ST 37 (37R) T T |
(A) FerEe (B) TSz (C) =gyrEe (D) faewEe
A ore-a e E Tl
(A) CO (B) NO ©) I, (D) NH,
=1 4 O % foea yre =72 <tar ?
(A) CuSO,,, (B) #EU(qE)  (C) T4 (D) T
B
g AgNO,

AgNO,
P
I ST H Agl FHALSA I A BTG T oo
(A) Telt-P H ehfetel 1R 6 +ve Tl (B)  Tetl-Q H hfeted he W @ —ve ® |
(C) Teti-P T shietel W a9 —ve § (D) THIATE B

SAreee T forg afufrn A Erdaie |

(A) TR hferee (ITTh) ot Sufearfa § NH, i STTaRdeho
(B) dISTIeac ST ol Fehal ScXeh ohi SUTEATd H RIS ST Iehtul
(C) NO - 3RFH 3 3uferfa § NO 1 O, FERT SRR |
(D) SO, FO,HEN Pt - SAUH i Sufeerfa o sTforgartor |

Te@ TT 1Rf o SR R wE faeher g

(A) Tadeessie X+Y-Z

(B) Ea(3) = X+7Y

(C) AH=Z+X

(D) E ac< Eagforward) >Ea (rev)

[6]
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(21) TESES H b.p. (FALH) FFEIHAT |

(A) PH, < AsH, < NH, < SbH, (B) H,0 > H,Se > H,S > H,Te

(C) HF > HI > HBr > HCI (D) HF > H,0 > NH, > PH,
(22) T H A S |1 SNES S STASTTHEA BT S |

(A) NF; (B) SF; (C) PF, (D) IF,

(23) SR srfafeman o foe 3fed fasreu 941 |
P, + SOCl, — PCL+S 9l AHEE + S T FH FANEES

(A) SNIERH S o SHHSHA 37k + 4 SR+ | HA: B |
(B) 10T P, 40 HicT S-oh1 SRS TR 20 WIeT S il TR
(C) 19@ P, U 3cIch el 10-Hed AR E |
(D) +4, +6 T&—2F FTUTAH L |
(24) STEAFTARIGA ...
(A) =™ PCl, 3ufeatd [PCL,] [PCl,]
(B) @ PBr, SUR¥q & [PBr,] [Br]
(C) HCIO, #TTREgEs CLO, ¥
(D) NO, H IS HAR F{TEHI TS |

(25) ST g ol SFEa FA R |

(A) Cr’ < Mn’ <Fe" (B) Cu” >7Zn" < Co”

€ Ti’' <V <Co” (D) Cr <Cr <cCr
(26) SI3KTATEMTR KM,0, I T8 T3 T Mn 3l i T Se1S 91 &1 |

(A) K,MnO, Mn,0, (B) K,MnO,, MnO,

(C) MnO, MnO (D) Mn,0,,MnO,

(27) ST U TH< W |
(A)  TEATES YehIa I8 THHel: Fehl= & IO T |
(B) SIATES Fehi= 3 shI0T Nb 3T Ta ol G2aT0] oo G9 = @l B |
(C)  4f o STk STTETEH WS 5d o TehITeh STTeTeH 3THY ol qor1 | S |
(D) 9IS HEEGES | Ce (OH), Haiifersh & 31 Lu(OH), Tl ¥ & 2 |

(28) EShITA GITq ST AT AT oh FeTT Hehto T8 T |

(A) K,[Ni(CN),] - sp’ (B) [Ni(NH,)] —d’sp’

(C) [Fe(CO),] — sp'd (D) [Fe(CN)J" — sp'd’
(29) A F GOl AT TR ?

(A) K,Cro, (B) [Zn(NH,)]"

(C) [Fe(CN)]" (D) K,[MnO,]

[7]
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(30) T3 & fopreep T watfres wemgentor 3ot SEE Bt 2 |

(A) @0@ B, — cu—cn®
0
©) @ coo® (D) @ c-0

O,N
(31) A S SR S TR
(A) “CH, B) °NO, (C) BF, (D) CH,C O

(32) P, GeA R T HHAFNR
(A) F>OH>NH: > CH; (B) CH,>NH, >OH >F
(©) OH>NH, >CH; >F (D) NH, >OH >CH; > F
(33) T eAfuferan o forg gad i T S SR A e |

CH,
(A) CH;— CIH_ CIH — CH, (C) CH; — CIH_ CH, — ClH2
CH, Br CH, Br
Br H
I I
(B) CH;— (lt— CH,— CH, (D) CHy— (lt— CH,— CH,
CH,4 CH,Br

(34) DCHZ-OHL ?  Hfshan o foru FsTeirentor | HTe 21 Tl Jay STEE 3c1g
HAAE |

o O {ron
(©) QCHs (D) @CH3

(35) C,H,,O 19T oIt 32X & WAk qHeeh (THTETE) ohl S faha i € 2

(A) 4 B) 5 € 6 (D) 3

[8]
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(36) T T Topm atfafran o1 SeaTe T SR TR |

OH OH OH Br
(A) _ (B) o~ NO,
3H,/Ni ZnlA
Br Br
NO,
OH OH
OH OH
© @ LLEOEER © (D) @ Brycs, ©
—>
Br

COCH,4

(37) T @ w el srfufshen 72 < ?

a oo ®
|
CH, - C-CHO Cl-C-CHO
1 1
CH, Cl

©) @ (D)
@C_ HO @CHz— CHO

(38) T eafrfenan o forg safam Scare s @ 2

ey TfEe & (i) T™ S
Ca-  (ii)Zn-HgHCl
(A) n- = (B) MEEU=4 (C) Wreciu=A (D) n-TRA

(39) fewwTgTured & SR W TET fashed T< 1 |
(A) C,H.NH, >(C,H;),NH > (C,H.), N (F8ra e1ereen # &1t qereran)
(B) (CH,),NH < C,H.NH, < C,H,OH (smei)
(C) C.H,NH,<C,HNH, < (C,H,),NH (H,0 # feererman)
(D) p- TEATAAA <p-AEA < Tl (I &1 Fereran)
(40) = F1 AT Shiferet waTE e A |
(A) p- THemse a8l TAET
(B) N- fHemse- 0 - fremsel Tef
(C) N-3emgel- N - 35l S9H1E
(D) N, NEE fHemEd THH s+

[9]



(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)
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fe TTu ifiren 3 fore et forshed v o |
HN Co

/CH 3
OmE)

D (1)
(A) SIS ST fereema o fora -1 =t wifsheran f-11 9 arfaen® |
(B) frsta AlCI, 1 - Sufeerfa ® sfaTe ot W Br 99 foT-11 8§ p T 0 <R |
(C) CO-THE + WX AR NH-HYE +R Y A& |
(D) ScrsR STt fereema stfafsran 3§ S o wem widfshareehar guiar g |

Br,/KOH CHCI,/KOH LiAlH,
—_—

CH;CONH, X N > ¥) >2)

ST 3cuTe Ug=l |

(A) CH,CH,NH,  (B) CH,NH, © CHN=C (D) (CH,),NH
TefehTSt H TRt shIsi IRHTY] <Rt e fehat B |

(A) 4 B) 5 c© 3 (D) 6

% 1 ufEE ey T e e T ?

(A) e (B) TARIEA (C) TerRA (D) TRIHRTEE
DNA H i ferers =ifeha o (&1R) Sufterd i € |

(A) TESTHA (B) e (©) e (D) et

1o 1 9 fohereh |1eT TeyahIet sffshan =2t st |

(A) HCN (B) NaHSO, (C) NH,OH (D) C,H;NHNH,
TR & § ShiF 9 SRS ST o St e |

(A) KMnO, (B) T © 1, (D) KNO,

Tt 3 & s ATeiiet Srrdreli R Fe €1

(A) SBR (B) Ui o (C) <HANR (D) PVC
“Ilrc'iH{@:ﬁ_{Hl"i‘-l{WQ‘II‘q‘-“IISI°|')\|"|H|%|

(A) TEAM-6 — FHAFRH ®) fafm - smatE

(C) @@ — CH, =CH- CH=CH, (D) dhAES — FARIIA

fopg diefTr & ferw, PDI a1 BraTe ?

(A) TEAN -6 (B) wWH (C) dheree (D) TCHATESE ToR

[10]
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PART - B Fel 376 : 50

gaTe wisal H ferfiad o o |

TH S T o WI-B H a4 (a9 € | qenspet 1 918 g feu e |
Tof g 31feme € | Wd ettt farehed feg e E |

T S QIfE T o 31k 3 W5 % 3o h 9 H gwiu T ¥ |

T FETT U U | YRET HL |

Tt o TaTe 9 fod |

ferenferi =hi aTrereren 1 Qe hesheret Te A~ Sefel ST o Fehe € |

* Fdafqumu ¥ gy huEferad R
(1) e ATafena s o7 SF=retieh 500 K 31X 700 K qT9HM T shas: 0.02S Td 0.07S €1 EaqelA M

U1 T A1 & |
(2) ITTET Y ACH g TG I gL R oh [Tl SUART qeafa dfare & wmemei |
(3)  [PtCL(en),]’ o TehT9ia GHEIZeR! o HLA AT |
(4) THEAH W A=A Tedhiee UK i o foTe Tremaf-es sifafshar ferat |
(5)  eHITeTel THI TR &1 Uk e g T |
At
(5) T oA STESiHTehtor AR qetenor foreem TwemeTi |
(6) TICRIRATET? 0L T B TTahIs oF e ITeT 5 T |
(7) TAIAA-2 -6 i A6 fegehl S8 3l SN sy |
(8) STHTEIHR UG SIATRIE WeTTelsh oh aig 3T oh I el TIB Y |
S REI
(8) WU H SUA TSR e = (SRS E Hiceheh) Terel s ® | 91 3eeu gl |
o  HRfEUT 9 Y14aHH YA FATER WA | TAH A 3 AHH
(9) TS R USSR hl ST THRIE Lo g1 T8 o ?
3Agdr
(9) TR (ST HIct ol Tohve Tl shicTel ohl TL&T0 THEMS |
(10) 99 o6 ot 3TTAfehan o forw A STaetioh o FHieRtor fag & |
(11)  TELSH Tt 379 € e o 311 9 el W o TR ST T2dl € | 3 HecT ol e ol == & |
(12)  3TT=fien Al TiTen e Teh SITaT & STedvl g SEeh! errerfurehal Tesna |
(13) 3T Shf~gd o9 Lo H YR 7ot <l o1 T |
(14) TESISH SATATSIZS oh |1 =i ol THAIeh ATATh A FHietor faa |
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(14)

(15)

(16)

(16)

7)

(18)

Ao HIRAHS 2 BAdR Wi [Agpl olls, IR

(i) 1- He A
(i) T o=
(iii) =TEel STl $oR

IreraT
e forat |

. o A~ o
() e Afafafas eiae

| Section - C |
T feu U 159 18 Toh o AT R 51 o HiodR ST ST | TR Y= 4 g
1.06 gmL ™ SIFcal oTel TRAfEeh 31 (CH, COOH) OK % 0.6 mL = 1 L STt H STl 71211 | 375t <hl 39 Hiegkell
o fore fewisr § e7a7@ 0.0205°C 9T foha 7121 | 377t < foTq AT 21k ToTeh Wa o feeries st TTorT
(qfehet) U |
Tfafed st F Amfo®g JC & 3o WY A1 Te- R IR FTetehdl =i A et TRt S Hehal ?
NaCl, HCl 3R NaAC % A m &1 Jod HH: 1264, 425.9 3R 91.0 S em’ mol ' & | A1 HAC Ffem
A" m TR |

37T
1 ferea fas= i A, B, C I S99 ZnSO,, AgNO, 3R CuSO, ! Terera Tl & 58 Jufishe 3 St
T 1 19 B H 1.45 g Toear Shelie 0 STH1 31 el ek 1.5 TR feer gaie TR foman <iman € | foha

3 oI JaITe 1 9 3T BT 2 ST TS 2 (FSTeF) 3t bt TiTen o sheite R o gaf 2 2
(Ag=108,Zn=65.4,Cu=63.5 g/mol)

K [Cr (H,0), (0X),]3 H,0 Fehivi ifites haeef # fret gt shee forit |
(i) LUPA.C. T4 e

(ii)  EoTieh Te raehd S0l (H1H a1 R i) Jed sransti ?

(i) CFT H3MIR T d-3eieh faawor aary |

(iv) STOehRIIITE THEEh! ohl T 1d A |

= feu U yen yered ° W I=igeh-UE o o ki AT STfifshan T for |
(i) g S

(i) TfERIEH

(iii)  STH =

(iv) TEHA
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STANDAR-12 (SCIENCE STREAM) PHYSICS (054)

ANNUAL EXAM
SCHEME OF QUESTION PAPER

TIME : 3 Hours

dopAd HIRUUS w GadR HiRs [Qge odls, oo

Total Marks - 100

NOTE : This blueprint is for the guidance of students, Teachers, Examiners, Moderators etc. The moderators,
Teachers and experts in higher secondary of the respective subject may do essential changes keeping

the objectives in mind.

Weightage as per objective :

Objectives | Knowledge |Understanding| Application Higher order thinking skill Total
Synthesis/ Inference/
Analysis Evaluative
Part-A Mark 06 15 16 13 -- 50
Part-B Mark 06 15 16 08 05 50
Total Mark (%) 12 30 32 21 05 100
Weightage as per type of question : PART-A
No. Type of Question No. of Question Total Marks
1. Multiple choice questions 50 50
Weightage as per type of question : PART-B
No. Type of Question No. of Question Total Marks
1. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50
Weightage as per Chapter :
No. | Name of Chapter Chapter Unit
Weightage Weightage
Part - 1
1. Electric charges and fields 07 U-1
2. Electrostatic potential and capacitance 08 24
3. Current Electricity 09
4. Moving charges and magnetism 08
5. Magnetism and matter 05 u-2
6. Electromagnetic induction 05 26
7. Alternating current 08
8. Electromagnetic waves 05
PART -2 U-3
9. Ray optics and optical instruments 09 25
10. | Wave optics 11
11. | Dual nature of Radiation and matters 06 u-4
12. | Atoms 07 18
13. | Nuclei 05
14. | Semiconductor Electronics : Materials, Devices 07 U-5/07
Total Marks 100 07

Note : Chapter weightage may be change for different question paper. But unit weightage can not be change.
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STD.-12 (SCIENCE STREAM) PHYSICS (054)
ANNUAL EXAM
SCHEME OF QUESTION PAPER

Que. No. Question Detail Marks
PART - A
11050 50 Question of one Mark MCQ type 50
PART -B
SECTION - A
1108 8 Questions of two mark SA-1 type 16

e Inthis section two internal option.

SECTION -B

9 to14 6 Questions of three mark SA-Il type 18
In this section two internal option.

SECTION -C

15 t018 | 4 Questions of fourmark LAtype 16
In this section one internal option.

Total Marks 100

Note:

Time one hour for Part-A
® Time two hour for Part-B

e The syllabus of the first term will be taken for first exam. And its blue print of 100
marks as per annual exam blue print.

e The Preliminary examination will over the entire syllabus and its 100 marks blue print
as per annual exam.

[2]
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=

Y181-12 (Science Stream) PHYSICS (054)

Annual Exam

Sample Question Paper
Time : 3 Hours Total Marks : 100

Time : 1 Hours PART - A Total Marks : 50

Instructions : (1) There are 50 objective type (M.C.Q.) questions in part-A and all questions are
Compulsory.

(2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

(3) Read each question carefully, select proper alternative and naswer in the O.M.R.
Sheet.

(4) The OMR Sheet is given for answering the questions. The answer of each question
is represented by (A) O, (B) O, (C) O, (D) O. Darken the circle (®) of the correct
answer with ball-pen.

(5) Rough work is to be done in the Spare provided for this purpose in the Test Booklet
only.

(6) Set No. of Question Paper Printed on the upper most right side of the question
paper is to be written in the column provided in the OMR Sheet.

(7) Students may use a Simple Calculator and log-table, if necessary.

(1) A Charged ball hangs from a silk thread, which makes an angle 06 with a large charged
conducting sheet. The surface charge density ¢ ofthe sheetis proportionalto.................
(A) tan© (B) Sin© (C) Cos6 (D) CotH

(2) Two charges are at a distance d apart. [fa copper plate of thickness d/2 is placed between them,
the effective force will be,

(A) 2F (B) F/2 (C) 4F (D) 2 F
(3)  APointcharge g isplaced at the centre of a cube of side L. The electric flux emerging from the
CUDCIS e 6al’ q
(A) Ei (B) Zero © fo D) ¢,

(4]

(4)  What charge would be required to electrify a sphere of radius 25 cm, so as to get a surface
charge density of % c/m’ ?
(A) 0.25C (B) 0.75C (C) 057C (D) 0.5C
(5)  Twofield lines can never crosses each other because,
(A) Fieldlinesare closed curves
(B) Fieldlines repels each other
(C) Fieldlines crowded only near the charge
(D) Field hasaunique direction at each point

(6) Ifhave energy of a 100 u F capacitor charged to 6KV could all be used to lift a 50 kg mass, then
the greatest vertical height through which mass could beraised is.................... m.

(A) 3.6 (B) 0.6 ©) 1.2 (D) 12

[4]



)

(10)

(11

(12)

(13)

(14)

(15)

The electric potential at a certain distance from a point charge is 600 V and the electric field is
200 N/C. The distance of the point charge is...................... m.

(A) 2 (B) 3 ©) 1 (D) 0

The dimensional formula of dielectric strength s .......................

(A) M'L'T?Q" B)MLTQ" () M'L'TQ' (D) ML'TQ

If X joule of work must be done to move electric charge equal to 4C from a place, where
potential is—10 V to another place. Where potential is 5V, then the valueof X =............... J.

(A) 30 (B) 60 (C) 50 (D) 100

A wire of resistance 20 Q is bent in the form of a circle. Then the effective resistance between the ends
ofthe diameteris........ooouuu.....

(A) 5Q (B) 10Q (€) 15Q (D) 20Q

A carbon resistor has coloured bands orange, green, golden and silver then its resistance will be

(A) 2.5+£10%Q (B) 3.5+5% Q (C) 3.5£10%Q (D) 350+10% Q
The resistance of wire is 10 Q . If the length of wire is increase by n % the new resistance is
10.2Q then n=..................
(A) 1 (B) 2 € 3 (D) 4
Which of the following is correct expression for mobility u ?
Ap=mt  (B) p=em (C) p=et (D) u= ¢
e T m m
Anelement AT=Ax1 isplace at the origin and carries a current1=10A.
If Ax=1cm, magnetic field at point Pis..................... T

Iky
p

T A x

(A) -4x10°] (B) 4x10™] (C) 4x10™1 D) 4x10°k

A circular current loop of magnetic moment M is in an arbitrary orientation in an external
magnetic field B. The work done to rotate the loop by 30° about an axis perpendicular to its
planeis................
(A) MB (B) y3 MB ©) MB (D) Zero

2 2

[5]



(16)

(17)

(18)

(19)

(20)

1)

(22)

(23)

(24)

(25)

(26)

Ao HIR[AS w1 GadR HiRas [Qige odls, oo

In a Cyclotron, a charged particle,

(A) Undergoes acceleration all the time

(B) Speeds up between the dees because of the magnetic field

(C) Speedsupinadee

(D) Slows down within a dee and speeds up between dees.

A Permanent magnet in the shape of a thin cylinder of length 10 cmhas M =1 0° A/m. Calculate
the magnetisation current Im. .................

(A) 10°A (B) 10°A (C) 10°A (D) 10°A

A magnet of m magnetic momant is rotate up to 360" in magnetic field H then the work done is

(A) 0 (B) mH (C) 2mH (D) 2nmH
The dimensional formula of B_2 IS cveieiieeeeeeeinns
24,
(A) M'L'T’ (B) ML'T” (C)M'L'T’ (D) M'L'T°

Asquare of side L m lies in the x - y plane in aregion, where the magnetic field is given by

]? =B, (2? 7 33'\ + 4k ) T, where B, is constant. The magnitude of flux passing through the
SQUATE IS v.evveeeivieeneeenne Whb.

(A) 2B,L (B) 3B,L’ (C) 4B,L’ () Y29 B,L’

The self inductance £ of a solenoid of length ¢ and are of cross-section A, with a fixed number
ofturns N increases as,

(A) ¢ and A increase
(B) ¢ decreases and A increases
(C) ¢ increases and A decreases

(D) both ¢ and A decrease.
A 1m long metal wire moving perpandicular with speed 5 m/s in a magnetic field of 0.1 T. Then

the induced emfbetween two ends of wire is ................. V.
(A) 1 (B) 2 (C) 0.5 (D) 0.25
The output of a step-down transformer is measured to be 24 V when connected to a 12 W light
bulb. The value of the Peak currentis.................... A.
L )
(4) B) 2 (€)2 (D) 22
2
A capacitor of 250 u F is connected parallel with a inductor of 0.16 mH. If the effective
resistance is 20 Q thenresonant frequency................ Hz
(A) 9x10° (B) 16x 10’ (C) 8x10° (D) 9x 10°

A coil of rectance 8 Q and resistance 6 € is connected in D.C. circuit, then the effective

resistance of the circuitiS.........oeeeeeenn.... Q

24
(A) 14 (B) 8 (€) 6 D) 7

How much average power is stored in an inductor when it is connect with AC source ?
(A) 12 Li’ (B) Li’ (C) O (D) Li

[6]



27

(28)

(29)

(30)

(1)

(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)
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The ratio of contributions made by the electric field and magnetic field components to the
intensity ofan EM waveis...................

(A) C:1 (B) C*:1 (C) 1:1 D) C:1
The electric field intensity produced by the radiations coming from 100 W bulb at a 3 m

distance is E. The electric field intensity produced by the radiations coming from 50 W bulb at
the same distanceis..................

E E 2 E
A 2 (B) 2E (O 2 (D)
The charging current of capacitor is 0.25 A, then the displacement current around its plates is
.................. A
(A) 1.25 B) 1.5 (C) 0.25 (D) 0.5
If lower halfofa concave mirroris blackned then,
(A) image distance increases (B) image distance decreases
(C) image intensity increases (D) image intensity decreases

When a light wave travels from air to glass,
(A) Itswavelength decreases (B) Itswavelength increases
(C) Thereisnochangeinwavelength (D) Its frequency decreases

A fish which is at a depth of 12 cm in water (W =4/3) is viewed by an observer on the bank of a
lake. Its apparent depth as observed by the observeris................... cm.

(A) 3 B) 9 (C) 12 (D) 16

In an equilateral prism if incident angel is 45" then minimum deviationis................
(A) 30’ (B) 60° (C) 45" (D) 90’
Astigmatism for a human eye can be removed by using ..............

(A) Concavelens (B) Convexlens (C) Cylindricallens (D) Prismaticlens

In young’s double slit experiment, if the width of 4th bright fringe is 2 x 107 cm, then the width
of 6thbright tringe willbe ...........c........... cm

(A) 10° (B) 3x10” (C)2x10” (D)1.5x10°
The bending of beam of light around corners of obstanclesis called................
(A) Reflection (B) Refraction (C) Diffraction (D) Interference

An unpolarised beam of light of intensity I  falls on a polaroid. The intensity of the emergent
beamis.....c.cccceneee

(A) 1./2 (B) L, (C) 1/4 (D) zero

Which of the given phenomenon is baled on the fact that light waves are transverse
electromagnetic waves ?
(A) Diffraction (B) Interference (C) Polarisation (D) Refraction

The condition for obtaining secondary maxima in the diffraction pattern due to single slit is

(A) aSin6=nA (B) aSin6=(2n-1)A/2 (C) aSin6=2n-1)A (D) aSin0=nA/2

[7]



(41)

(42)

(43)

(44)
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4 (A) 4+ (B)
Photo Electric Photo Electric
Current Current
intensity of light ! intensity of 1ight'
A (C) A (D)
Photo Electric Photo Electric
Current Current
intensity of light intensity of light
0
An X-ray tube is operated at 50 KV, the maximum wavelength produced is.................. A
(A) 0.75 (B) 0.25 (O)1 (D) 2.5
De-Broglie wavelength associated with an electron, accelerating through a potential
(A) Gammarays (B) X-rays (C) Ultravoilet (D) Visibleregion

If E, and E; represent potential energy and kinetic energy respectively of an orbital
electron, then according to bohr’s theory,

(A) E,=-E /2 (B) E,=E, (C) E,=2E, (D) E,=-2E,

Highest energy level of an electron correcponds to n = oo and it has an energy of ........... eV
(A) Zero (B) oo (C) 13.6 (D) —13.6
Ahydrogen atom in its ground state absorbs 10.2 eV of energy. The orbital angular momentum
isincreased by .......cccceeveneen. Js. (h=6.6x107"1.8))

(A) 1.05x10° (B) 3.16x10 (C) 2.11x10°* (D) 422x10 "

Heavy stable nucle have more neutrons thau protons this is because of ..................
(A) Neutrons are heavier than proton

(B) Electrostatic force between protons are repulsive

(C) Neutrons decay into protons through [3 decay

(D) Nuclear forces between neutrons are weaker than that between protons.

[8]
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A radioactive substance decays to 1/16 th of its initial mass in 40 days. The half - life of the
substanceis................ day.

(A) 20 (B) 10 ()5 (D) 2.5
Fill the blank: ij > e, + ¢ + V (anti-neutrino)
14 11 32 22
A N B B C S D N
@ B) (© (D) | Ne
In ideal junction diode as shown in figure, the current howing through AB is .................. A
A 1kQ B
+4V -6V
(A) 107 (B) 10" (C) 10° (D) 0

The Boolean expression of NOR gate is ...............
(A) y=A (B) y=A+B (C) y=AB (D) y=A+B

[9]
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PART - B

Time : 2 Hours Total Marks : 50

Instructions : (1) In question paper Part-B there are three section.

(2) All question are compulsory and carry internal option.
(3) Number represent in write side is indicate marks of question.

(1
2

€)

“4)

)

| Section - A

Question No. 1 to 8 do as directed. (Each question carries 2 marks) [16]

Define electric line of force and give its two important properties.

In a meter bridge, the null point is found at a distance 0 33.7 cm from A. If a resistance of 12 Q is
connected in parallel with S, the null point occurs at 51.9 cm. Determine the values of R and S.

R S
- B
s [, ] [
A Gy C

“_f]—'ﬁﬁloo—fl—’

f%’laa uZl v

) Kl

The wires which connect the battery of & an automobile to its starting motor carry a current of
300 A (for a short time). What is the force per unit length between the wires if they are 70 cm
longand 1.5 cm apart ? Is the force attractive or repulsive ?

A closely wound solenoid of 800 turns and area of cross section 2.5 X 10" m’ carries a current
of 3.0 A. Explain the sense in which the solenoid acts like a bar magnet.

OR
The earth’s magnetic field at the equator is approximately 0.4 G. Estimate the earth’s dipole
moment.
Predict the direction of induced current in the situations described by the following

figs. (a) to (d).

Rheostat Setting

(Tapping Key just closed) (d)being changed

©

[10]
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(10)

(11)
(12)

(13)

(14)
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Give any four cheretristic of electro magnetic wawes.

Explain the nuclear binding energy with exampel of O
OR

Find the energy equivalent of one atomic mass unit, first in joules and then in Mev. Using this,

express the mass defect of (1)6 inMev/C’.
8
Explain the zener diode as a voltage regulator with proper circuit diagrams.

Section - B |
Answer questions number 9 to 14 as directed. (Each question carry 3 marks) [18]

Aroom has AC run for 5 hours a day ata voltage of 220 V. The wiring of the room consists of Cu
of 1 mm radius and a lenght of 10 m. Power consumption per day is 10 commercial units. What
fraction of it goes in the joule heating in wires ? what would happen if the wiring is made of
aluminium of the same dimensions ?

[geu=17x 10°Q m, Q AI=2.7x 10°Q m]
OR
What is parallel connections of cells ? Device the equivalent equation of parallel connections
oftwo cells.
For a circular coil of radius R and N turns carrying current I, Prove that the magnitude of the
magnetic field ata point on its axis at a distance X from its centre is give

byB= _1IR'N
2 (XZ n R2)3/2

Explain refraction of plane wave by using Hvygens principle.

Two towers on top of two hills are 40 km apart. The line joining them passes 50 m above a hill
halt way between the towers. What is the longest wavelength of radio waves, which can be sent
between the towers without appreciable diffraction effects ?

What is the de Broglie wavelength associated with (a) an electron moving with a speed of
54x10°m/s and (b)aball of mass 150 g travelling at 30.0 m/s ?

OR
Photoelectric effect can not be explain by using wave theory of light why ?
Write the truth table for the circuits given is Fig. consisting of NOR gates only. Identify the
logic operations (OR, AND, NOT) performed by the two circuits.

(a) (b)

[11]



(16)

(17)

(18)

Ao HIR[AS w1 GadR HiRas [Qige odls, oo

Section -C

Answer question No. 15 to 18 in detail. (Each question carry 4 marks) [16]

Two charges —q and+q are located at points (0, 0,—a) and (0, 0, a), respectively.

(a) Whatisthe electrostatic potential at the points (0, 0, z) and (x, y, 0) ?

(b) Obtainthe dependence of Potential of the distance r of'a point from the origin when
r/a>>1.

(c) How much work is done in moving a small test charge from the point [5, 0, 0] to [-7, 0, 0]
along the X - axies ? Dose the answer change if the path of the test charge between the
same point is not along the X - axis ?

Derive an expression for the impedance of an a.c. circuit with an inductor L and a resistor R in
series. Also obtain the expression for average power in this circuit.

OR

A resister of 200 £ and a capacitor of 15.0 [LLF are connected in series to a 220 V, 50 Hz ac

source.

(a) Calculate the current in the circuit.

(b) Calculate the voltage (rms) across the resister and the capacitor. Is the algebraic sum of
these voltages more than the source voltage ? If yes, resolve the paradox.

Use the mirror equation to deduce that :

(a) Anobjectplaced between fand 2fof a concave mirror produces a real image beyond 2f.

(b) A convex mirror always produces a virtual image independent of the location of the
object.

(c) The virtual image produced by a convex mirror is always diminished in size and is
located between the focus and the pole.

A hydrogen atom initially in the ground level absorbs a photon, which excites it to the n =4
level. Determine the wavelength and frequency of the photon.

[12]
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